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1) mnTpa
TRIM 790K DORT?] NI ' Yw3a 790K
[[nmm2% 2R ' avwa [mnena?
N ywa
11297 MOK N N RN "M
11297 MOX N 11297 MOK A
AN 71277 70K 5o% AN DRI 70X SX9m3 120
ik MM 11277
1122
2) mwn

@) NRITI N ... MOW A7 TATA? 2NN YA D1OR? I Avw 95
3) X
a) RIPPR A
i) The mwn follows 7°xi " who says
(1) Axw is 9ok and 2°oxn through ' nyw
(2) And a 372 is also %2 and 9208 through ' avw
b) xwp
i) Since in any nyw when any person is 221% he can also be 7°5xn
ii) the mwn should have said 72381 H2ww myw 53"
C) Nipon
i) The nawn follows the v w of 2%°%13 127 who holds that
(1) A 312 is 722082 2w and can be 9228 his nnain 1 avw

(2) ABxaw» is a2 oxa oKX in 7 vw but can be 9°oxn so long as a 172 is 7o1R
through 'n nyw

i) The mwn teaches this by saying
(1) nyw 9> that any person (including a 3712) is 79282 20



(2) He or even another person (a >xw°) who’s then 177°2%2 70K can still be
rim1va)

4) "wn
a) Nwp as explained by x"wann

i) Maybe the words %°oxn 91987 aninw avw 9o refer to the same person and the
mwn teaches the nvw of A " that

(1) so long (through 77 7yw) that Xn»X77 a person is AN to be ynn 2R
(2) that person can be 7°ox» even 11277

ii) note that the 7awn can’t say “so long as a person is ynn1 %2 since in fact
112777 there’s an MO°R ON YR 12X in ' v

5) —Twnn of the X
a) ToRw
1) Once the mawn says "nxim2 anm"
i) Why does the mwn list separately the nwai of Mo n1vn nwana
b) nawn

i) To teach that these mxi7 are "nn and we’re not Wi that a 7131 n anna will
be ynn »wn

6) °"wnat nvaw avw 9o "7
a) Nwp to the mwn
i) It’s a mwws that when a person can eat y»n he can have nx11 from ynn
b) v

i) 1It’s correct that the mwn doesn’t need to teach "91>" that a person can be
9081 when he’s 921

i) The wyn is the p1»7 that
(1) as soon as ynn is 79°282 MoK
(2) it’s also xR MON
c) the o°v1o of this P17 aren’t relevant here
7) X"wann
a) The xwp of »"wA that the 7awn doesn’t need to teach 51>
i) certainly applies to the x1»nx mn

i) when the &3 thought that the mawn follows the [u w of 2°kn '3 and the oo
of 7%°ox and nx17 apply to all people at the same time

b) noRw

i) Does the xwp of >"w also apply to the Xipon that the mawn deals with two
people (372 and &) according to X913 120



d)

72wn
i) yes
il) because even if the mawn didn’t teach that
(1) in "7 avw when only a 173 is 77582 N
(2) a x> as well as a 372 is 2 to be Mo NP MInaa 2Ry

iii) we’d assume this 17 ourselves since there’s no X120 that would make us think
that to feed nnna that is only an axam is more 2o than 375 n2°ox

Xowp
i) Why not say that
(1) if the mwn didn’t teach that when a person can eat y»i he can be 2°oxn
(2) we might have said that
(a) because of the wwn of x3»wn for mow n1Pn nwan2

(b) the particular %37 of M2y NPn NIMA2 NP8 IS more 7n than N9oR
=)
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1) xn»n2as explained by maoin
a) 7PaER ANy
1) nm> can be sold to a »>51 no later than 30 days before ros
i) Because nn> is eaten slowly and people might think that
(1) the 7°on happened during oo
(2) when it’s 70X to sell ynn to a >7o1
2) Moo in 172w 9R o as explained by X"wAnn
a) on a7 says "nosa nmd mawn? amn" and there’s no MoK of 7R Hya
b) xwp to an 12
i) So why is it mox to sell nm> to a »51 less than 30 days before nos
C) y™n
i) Although there is no mo°x of x7° Hy2 for nn> even in noo

i) It’s still ,ox to have xa7 from > when it’s MK to have nxi7 from other
yan

iii) And >731% 7on is included in this Moo
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1) mnpa
e han] 7" 7RI 7" 79K TRIM A9OR |7 AYwa aRg WA 7979
N IYW MR | N avw nRb 1 ywa i
70K 710K 0K 13277 MOX ann ann PRR "M
RNPIIRT RNIRT RNPIINT
10K 710K TOR 11277 0K amn 71277 MOR hiahelal
RNPIINT RNIRT RNPIINT
TOR 710K TOR | AR 13277 OX 50% 1M 179% mn 5R973 120
RNMIRT RNPRT RNPINT 190 SR 0K
13277
70K amn 0K NvRY "
RNPIIRT RNPIIRT
M ann 0K S2937 90 '
RN»IINT
2) mwn

a) INRIT2 MR LK IR avw 9

b) X172 TIOKR AT N2

3) XM
a) Nwp

1) Xows

4) moon
a) Nwp

1)  Why does the & na say X wd

i) After all *2°%x7 >0 " says that ynn is X172 9nn even in nod

b) v n

i) It’s a muws because

(1) a mwn at :x> 77 already teaches that ww n%nna pow
(2) and

(@) if the mawn were to agree with >2°%377 >0y 1 that nooa yan is IR N

(b) there’d be no need to be yni qw




(c) instead it would be 2n1a to be 1295 °19% ynan y>n on nos and to sell yan
to a >721 0n 1od

5) Twnn of the xna
a) y1nto the xwp of X wd
1) You’re correct that
(1) we already know that the mawn doesn’t agree with >2°9377 %01 "1

(2) and it’s a mw ws that the Xn>>RTH 7RI MO°KR begins with when the Mo°R
72758 begins Xn*»TIRTN

il) but our miwn
(1) teaches the wyn for 2xn ' that

(@) ynm is 1329771 nx172 Mo from ww nonn when the 1312771 77798 MoK
begins for his nuw both for o175 and o°oxw»

(2) and also teaches the wy°n for &°5n3 121 that

(@) ynmis 132971 nX172 Mox from ww nnn when the 1327772 7%°0K M0°K
begins for his nv*w for o°3n>

iii) Note by the way that

(1) at nyw 95 1"7 we established that the mawn doesn’t follow 777> " who says
that

() ynmis nR17a amn during ' nyw
(b) even though 77> ' says there is then already an 112771 77258 MOK
6) X"wann
a) Nwp

i) We already know from the mawn at :x> 77 that y»r IS IRI72 MOKR i 11277 Myw
since

(1) the mwn teaches that there is no°w at ww nonn

(2) And if the ynn was then nx372 70 there should have been a a7 during
Y YW to be 1292 %197 yan o and to sell ynam to 222310 72w

b) y1n
1) The miwn is necessary for us not be v that
(1) ynnis actually nx372 ann during ww avw
(2) And
(@) the reason the mwn at :X> 77 requires ynn no> W at ww nonn
(b) Is in anticipation of the nx17 10°x that will be %n
(i) at ww o for 7°xn " and HR973 127
(ii) on roo itself for ynw " as set out in the table
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1) X7 as explained by moon and X"wAan

a)

b)

c)

Part 1
i) There are five o105 that have no y1277 at all
i) For example
(1) In the pyos "rA9Y N0 D TPWA DOV VAR
(2) o°y23 nyaar and naoy N each has meaning
(@) whether o»1p1wn refers to ooyoax nvaax
(b) or o> pywn refers to “ro No>
Part 2

i) The oo "1 WwaxR2 nRVAT OTA 177 P is similar to the five o’pos that
have no y1511 because

il) "nRonn o a0 npM" and "inn" each has meaning
(1) whether yyaxxa refers to "nxwmna o 707 nPN"
(2) or ywaxxa refers to "ynn"
Part 3
i) Now consider the following 109 if it were written without the word "x"
(1) "923% on[1] M 799K 73NN TIWWD WK WY
i) This p09 isn’t similar to the five that have no ¥y because
(1) if the ;oo is read as
(@) 721 790K 73NN VWA WK MY
(b) »101% has no meaning
(2) And if the mo» is read as
(@) *721% 79m3 795 733NN
(b) Twwa wx 732 has no meaning

10



M1 237 Xl TUNa Xknwa ' Tn
1757 n1BoIN

1'% Y AT TN MAITPRD TWROR RITT IR 1 2D 10N - RN vanh Rabwa
TION1 ANDT RN LR MMITPRY K207 J1ODT 5717 PO 95 R 200 707 KD O ORTIT
TR 29TPIR TR PRY WATAD RART R''7T IR 202 777 KD O T102) 9OKRY 730N
ORY D17 779N WIPAD RNRT RIWAN 77 O3 KOR 202 797 KD ORT 91211 23 %21 an>%®

TAT 7790 MWD RNRT RIMAR 717 71972 901 2300 T

1war Yo Pupa Mo

N7 579297 199 92957 9721 "9 n'IRY L...- 779222 TR VDR 777D 20057 9 v TY
721 NI 3 NN ITPIY R TIIWIONR RIT N7 VIDTA INRIT O YRR 19ORN
79573 73901 2ON057 RNWT KON QTR 00T 71T ROP 2 K92 RN2017 9! 2vann
N1 N''RY ANMAD R RART R''7 2070 IN 2ON0T IRY OR 7IRIT MON Kby R4
DITRIY IR TV RDY AT 79N IN Q221D TAIWT 7TDR IR WIPPR T ROR 210290
23N27 N''RY 292010 TAIWT 10N MWIPAD RIP NRT R''IT 0N RN20% 7190 WIT 0

AT TN WIND ONRT R''TT B 232010 T2WT MmN

N'"wann

71903 2907 RN DA 9" 9" oY 12 71001 2n2T RAW DAk 1o »'h Xabwa ''7a
DNMWIT? RIP ONRT R''7 2ITPAY IR 29057 IND OR FINIT NOWN KLY TADY 7790
TR TADD 7019 JWTY T KD aNNWTS XIP NRT RN2077 219 7' "B ‘o B''ay
MIWRD NRT RT3 KPR 290D 717 KD ORT 'OINT 1205w 77 DY 19) RRbYa NI

TH''PY RADYA FIRIT MOOR YT T RDT 1377 10 IR 292010 TAWT 70N

"DINT 92T Doy 10 3 RUR 2nD 7717 RY ORT 2°2010 721 73 91 21000 TRy 7''Na
TV KDY 773001 IR 2I22ID TIWT 577927 IN NIV 77 RYKR 21020 K9I N'RI7D pnT
72T 71901 23057 DRI 292210 TRWR NI WIWAY RIP NRT KR''7IT 0N 0N
RO X777 '0w7T D' Doy "D RDT T 719N WIvRD NRT R''77 5N Ao
R'"'7T7 0TI 292210 7AW 290D 7717 ORT 120D RO NI AN 30 2127 PIODY Dk
T 2N 292210 T2IWT N1 WIWAY NRT KR''IT 12N 2N AT 7790R WIRh NRT
RPR 1981 K257 1995157 KD 2w 2317701 292210 72102 571901 21097 2w 1answ ROwps
FIRTIT 2" Y TR NITY T DM PRYAW 9192 RITT Y1 0 ORT R NINca1 AT
720 2597 IN 719012 PP2Y 77T9DR2 2 OTIAD 3 2IN0DT RUR RDT 1TD KW KT
RO20% 7199 JOPTOT 1190 2ITPITY IN TIVRY KDY TN P92 10002 PR TR 23200
R77 230557 IN TA2 71901 IN 777901 IN K77 RN 21009 K97 K7 172 ROWP K K7 92N
TIT D IRT 7795132 TN MWIVRD ONKRT K7 KT 9527 292210 T2 1NN 0N N
T1ON1 KON 2900 5737 KD ORY 79I 32 571001 MWIPRD ONRT KT A2 77901 RN 2900
292510 722 N7 RPR 2500 717 KD IR 191 70D 32 57I0R MWIWAY KT KT 02
TNNN 20097 KON ROT IR ROWP KDY 7ODIA 292210 7202 TR WIWRY NRT K7
B9 M3 23N29 K®Y 292010 722 IMNIN 2IN2DT IR DD 292510 T2 21009 KDY TA2
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597 SWIPAY SART R'T WIOMIND FOTIAY 232910 TIW 2509 ORT HW XN 'Y
RO 2775927 NINS2 192 1D IRTIT 7T 293912 TAIWH 3 NITVT NAKT NN30D AT

AR S
1) xama
a) 2R ' says that "vnwna X MR TR 727K MR TN ...02I12 2IR° KD MRIw n"O"
b) AR "™
i) derives this 7w from IR ;77581 73100 YW WK 737 777°21 95 (22I72) 17980 KO"
"101% Mon
i) by being w7 that
(1) since 73N vwa WK 5 teaches a ax7 0 for 79021 where the 770
uses 0?12 12oKN X7
(2) it must be that o2 17580 &% without a special 20 would have taught
TR17 M0°R as well as 79798 MoK
2) XnUM2
a) TRn"M
i) " 7nn avwa wR 232" has no yaoi and is read two ways:
(1) M7 IR 7798) 72NN TAVWA MWK 7
(2) And >751% 7197 IR 799K 733NN
ii) It follows that for both 2 and >121 there can be both n°n1 and 77001
b) amm "
i) Although in general a 1o that has no v1377 is read both ways
il) the p0o here uses "x" to teach that this ?05 is an exception where 2°927
12n2>: there can be n3°n1 only to a 73 and 79°57 only to a » 53
C) noRw
i) What does "x" teach for °xn "
d) mawn
i) "KX" teaches that
(1) although any kind of &1 is permitted
(2) nrnia9ais preferred over *101% 79°n
e) noRw
1) Since 777 " needs X to teach 32055 a°727 that there can n°n1 only to a 73 and
77 only to a »7o1
i) How does he derive that 73°n12 2 is preferred over 1215 7001
f) nawn

12



1) 17 " says we know this preference xn2on
g) Xwp to A"
1) According to 77 "M it’s possible that

(1) o%m2 2oxn X7 teaches only 72°5% MoK so there’s no need for WK 235
Twwa to teach a anon for R

(2) Instead
(@) mann avwa WK 137 is needed to set out the word "IR"

(b) that teaches that there are certain kinds of %177 that are 9vox namely
1217 Arn1 and 3% 7on

3) mooin as explained by x"wann at xnowa "7
a) Nwp
i) Why doesn’t the X3 ask the same x°wp to y7ax ' from Rn "
i) Namely
(1) According to 7°xi " it’s possible that

(@) 072 2oxn XY teaches only 72°9% MoK so there’s no need for WK 71
T°vwa to teach a anon for R

(b) Instead
(i) mnn vwa w2 is needed to set out the word "x"
(i) that teaches that 227 73°n1 has an>7p over »M317 77°n
b) 10 of mvoIn in wan %o pao

i) It’s only if the nvw of y72x " is correct and the 7105 needs to set out W "%
T°vwa to teach that 79221 is aRIT2 N

(1) that we can accept that "w" is needed to avoid the mistake that
(a) instead of to teach nxi7 An°n

(b) the purpose of the oo of "> ywa wx 5" is to be mwn n°n1a2 73 to
77 0m2 *101 by teaching that the x720 of 717 isn’t correct

ii) but if the 7v°w of wak "7 isn’t correct
(1) we wouldn’t have needed the 0o altogether
(2) because we’d have no reason to think that the 8720 of 7»°7p isn’t correct
c) y»nof mooin here

i) The words of m»on here aren’t clear as the words of mooIn in wan %5 o
and it’s possible that m»oin here follows this "2 771"

(1) 1t’s only if the 7v>w of ¥72x " is correct and the 7105 needs to set out 73
Twwa Wk to teach that 7%°21 is AR372 N

(a) That without "&" in the ?105 we might have been ¥ that the o

13



(i) besides teaching nx37 00

(ii) also is mwn "7°n32 A" to "°ona »101" to teach that there’s no
TR

il) but if the 7v>w of w2k " isn’t correct
(1) we wouldn’t have needed the 05 altogether
(2) because we’d have no reason to think that the 720 of 7n*7p isn’t correct
4) R"wan

a) We’ll explain below that it’s 12non that mooin here follows the v w of mooin
in "wan %5 po

5) qwnia of mooin
a) xowp of "N T ROR 210127 K"
i) To avoid the myv that the purpose of the pos is Jnwn®

i) it would have been enough for the »o5 to mention only the 7 for =3 or only
the 17 for "o

iii) Because then
(1) Since the m105 wouldn’t have mentioned both cases

(2) it would be clear even without ™" that the purpose of the o5 isn’t to be
mwn the two cases

b) v n
i) If the p1oo of wwa WK 732 weren’t set out in full
i) 1 would have said that

(1) The mo5 doesn’t teach the nv>w of ymax " and in fact all nxa7 are generally
amn

(2) and the only purpose of the oo
(@) is to be vynn from the mra that are generally an
(b) The aspects of 237 73°n1 and »1337 7721 that we’ll discuss below
6) X"wann
a) Note that
i) If you were to follow 'a 7271 in mooin earlier
i) We’d have to explain that m»oIn here says
(1) If the proo of avwa WK 237 weren’t set out in full
iii) 1 would have said that

(1) The mo» besides teaching the 7w w of ymax ' that all nixa are generally
T0K

14



(2) The mo» also teaches an nx37 Mok for those aspects of 737 nrn1and 77°on
1517 that we’ll discuss below

b) But this 7% is clearly incorrect because there’d be no reason for particular 0%

c)

7R17 when we already have a general 7R MoK

So it must be that

i) M»ooIn says that it’s not 7anon to follow 'a 72n

i) And m»ooin throughout follows the 9%an of moown in awan 5 pao

7) Twnn of X"wnnn — further 11w on the ®wp of mooin that "21n>°% 85" and on the y17°n of
mooIn

a)

b)

P
1) "M21is ¥ relative to =
i) Toab%apnit’s a mww»s that 73°n1 is more favorable than 79°n
iii) It follows that
(1) First

(@) It’s more 72non to permit 237 AN than 137 7791 or »1237 71 or
217 AN

(2) Second
(@) It’s more 7anon to permit »1517 77°01 than 237 772

Here are two 0°3%:n to explain 11°va for nmsoin the precise xwp of "21n>°% X7" and
the y17°n of mooIn

First 77mn
i) Xwp
(1) Why doesn’t the 105 say
(@) 7x7 17n1 without saying °1217 7%
(b) or »7217 77751 without saying 237 [1°n:
i) y1n
(1) we’d have said that the purpose of the 105

(@) Isn’t to teach the 17 of 17ax " and in fact 052 Haxn X% doesn’t imply
XRI7 MoK at all

(b) But is to be vynn altogether
(i) »217 Ay if only 237 71N were mentioned
1. So that for >121 only 79°on is N
(if) 237 7000 if only *9317 7% were mentioned
1. So that for 2a only f2°n1 is amn

15



Y17°n Xowp 717°n Xowp
RIMAR M7 1n2°H R RI2R M0 21N2°% R 'R 1o
RIP NRT 701 ROX XIp "NRT AWAROR | 7707 mpona

7001 VYN A9 | ArnIwYA? | N M

W7 | 237 Ao 037 9 M7

Han an>ne

ano>ne 9217 77791

A7 7N

d) Second 7%nn
i) moown asks that
(1) Why doesn’t the pios teach
(@) both 7von and axna for 23 without mentioning *151% 77°on
(b) or both 177751 and 3°na for »751 without mentioning 2% 71°n2
i) And mpoin answers that
(1) If the oo said only one of 237 77751 712°01 OF °733% 77°oM) 729N
(2) we’d have said that the purpose of the P10
(@) isn’t to teach the 17 of 1728 "
(b) but is
(i) to be vynn "% avon" if only "131% 777011 7N were mentioned
(i) to be vynn "051% arn" if only "% 77°om1 n°na" were mentioned
(c) Because *121is y7a relative to 23

Y17°n Xowp y11°n Xowp
RIIR M7 21N2°H R? RINIR M5 21N5°% RS 2 99mm
RIpP oNRT | "01" KOR XIp °NRT "' KPR | 7°7 MDA

7000 vYnh A9 | NI vYn? 73

WY | M7 avon M1 X7 77°on

59317 7N T37 70N

e) ToRW to '27on

1) Why doesn’t m»oin also ask that the »oo could have mentioned only 237 73201
Or °721% 77791

f) nawn
i) mooin assumes we’d understand ourselves

(1) if the ;oo were to say only 737 73°n1 we’d say the purpose of the P09 is to
be vynn "7 f9On"

(2) if the oo were to say only *9217 77°on we’d say the purpose of the P09 is
to be vynn "1017 NN

8) mooIn in awan 95 p1o compared to the two o°3%7n in nvoIn here
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YN Xowp 710 Xwp 77N Xwp
RIAR T | 2N KD | RPBR M7 2% XY | RIMR T 2029 K% | noown Yo
N2 ONRT | 739N KON NP ONRT | 77908 RUNR NP SNRT 7N KON b P2
79N YRS MDIT | ON wYRb sham 91T | N LyRb shan AT wan
BT "7 an>amb "7 ans>om®
AT M himki=le]
M7
RIMR 171 2N K Repatdihi 21N XY 'R Tormn
XIp °NRT 77707 K9 R °NXT ArNINYR | 7707 MDoINa
77707 vyn? 92 57217 | AN LR 92 7
bV an>ne 017 an>ne
A7 7N 37217 770N
RIMR 171 2N R Repatdmihi 21N XY fal 1l
X °NRT | "™01" ®OR R °NXT "A" ROX | 7777 NBOIN2
77701 vynb 73 | On1 vYRY i)
3% | a7 Aon i) A7 77700
97217 70NN 37 7NN
9) X"wann
a) Partl
i) It’s obvious from the table that NN in w27 %5 P19 doesn’t follow the
second T77n in Mmoo here
b) Part2
i) there are also two differences between msoin in qwan %5 P19 and the first 72
of mooin here
i) First difference
(1) On the xwp that the p105 could have said only *7517 77701
(@) While nmooin for the first 7271 here answers that then we’d have said
that the 109 means to be 237 77°0n vynan
(b) moOIN in w2 %5 p1o answers that then we’d have said that the p109
means to be >1217 73°n1 Ly
iii) Second difference
(1) mooin here for the first 797 doesn’t ask at all that the ?105 need say only
9217 7N
(2) While moin in awai %5 P10 does ask this x°wp and mooin there answers
that “then we’d have said that the 105 means to be 27 71°n1 vynn”
c) Part3
i) the yyn of mooin in awan 95 pao that “then we’d have said that the 0o
means to be 237 7°n1 vyRR” is a pmy
il) because we’ve established that the &>210 throughout assumes that 121 is ¥
relative to 2
d) part4

i) the first 9%7m of moown here is also pmTa

17



i) because m»oin here should have asked the xwp that the p105 say only 73°n3
517

Part 5
i) The second 77nn of mpoIn has no mponT
i) note that

(1) we’ve explained for this 777 why n1o01n here doesn’t ask that the 105 say
only *7217 7°n2

(2) and to explain why the P09 doesn’t say only 1217 73°n11 7%
(a) the yyn of mooin that “we’d have said that the 109 is 937 77200 vynn”
(b) is consistent with the 7%:n of the X that »51 is ¥

(3) and to explain why the m109 doesn’t say only 2% 72011 77°0n

(@) the y1°n of mpoIn that “we’d have said that the P09 IS 7101 V¥
0177

(b) is also consistent with the 7%m1 of the & na that »351 is v
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QD 7
NTAI NN XD AT N

79521 w''H TOAT IRDA INIT AN 0 9T N2 RPN 7 0 when [R Ty 20 07
IR RDY AR IR T ITIT DORN KD 2"'Y TIAT IRDT 710 B H oy vws '
ROR 2057 92V TP TWRNT KDY 27 23 1PD '0INT TR R 2 ' mTooal vaak

12'7Y MIRY N 272 ROINT 2WH

1) xama
a) PN
i) 172K " says that 21m2 Poxn &5 teaches an 7x17 Mok as well as an 79798 MoK
b) xwp to7ax "

i)  Then "Awi7 73 IR 9 212 (22172) 1298 8 19 73" should mean that nwai 73 is
1IRIT2 IO

i) Yeta mwn says that nwin 7°3 IS 7R3 0
c) ynas explained by *"wA and X"wAan
i) The specific an°n for ax37 from 77°21 also applies to its P73
ii) Because "R 777 7790 17250 R0 ARIT2 77021 7w
iii) And
(1) once we know that "%ox> 8>" for nwi 7 doesn’t teach an 7837 0°R for
the nwan 713 of a 7722

(2) we say that the y2ox> 8> for 7wan 72 is an exception that doesn’t teach an
7R3 Mok at all — even for nvw>

2) X"wann
a) Compare the similar reasoning by msown in Pamn oo nn 5"

i) Once "> 1120wWn yaRa " teaches that 5ox° &5 for 07 doesn’t teach that o7
79I 1S IRI72 70K

i) We say that this o8> X? doesn’t teach an nx17 20°K at all — even for o>w7p o7
to which a3 1139w v %y doesn’t apply

b) xwp
i) Why does m»oin make this point directly for a7 but not for 7w 73
c) 1IN

i) Mmoo for o7 needs anyway to deal with a further x*wp that’s not relevant to
'[3'{9}

(1) Namely that there’s a separate > for o>w7p 07
(2) Details of this x*wp aren’t relevant here
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1"7Un ANX INIR 2" TN

B Boy "D MW 17 DR RIZATR N2 WND TIVIRT "D IR MK 772 'O
RPDI RIP THRT RRWPYT WU "D INZOW 20RTPR WRITT R''TOT NI 0 wnb
A Rh L
1) X
a) nnIpn
i) "™%a8N RS 790 77w WA
(1) Besides teaching the 17 of 790

(2) Also teaches that there’s an 77758 710°K for 17> nx ®¥17w 72w and for
INXOTNN IRLW WP

2) mooin

a) 170 DR XYW 72w and JnReman IREw 2wIp are IR vipnR”
3) X"wann

a) Although there’s no actual wp*n

b) They’re *77% WP in the sense that their 7%°5x MoKk is derived from the same
raleh)
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NITY 1IVNYIY '721IN A" TN

" P92 R'"'Ya wHsh WER R TIIYA WY P9I 2R "D i P a''Ta
R''RT RI777% 79 2WT "D MR v PR R''Y2 2D RN ORPY DO "D naNw
P57 DWW MARP MRADT PRV N0 R27T 7997 VR yRwRTY KR''va wenh
T2 VPINTY TN PRI TAPY 7712 20 IR PAYAY NION ORP R''Ya s R''N7

SrAR g

5o RNMMINTA FIRIT TORT D921 1D KD TV W7 002NN 'D 0" NaT 7N
TRITI PNOR VY2 WA PRI 20T ROTI2 RIN RSN NI PRITPT U 'sa
N7 2907 97 R2WORT 97X V''9T7 2nMWIR IPIWT KON V'RN5R 10 RNMINTR

1)

2)

3)

4)

5)

6)

TPy "D AT 0" RITITA NIN 2" N2Y R RDMTINT IRDT

Rapiab}
a) v uneIw 1P are R Mok as well as 772082
b) 77 ' says that the m10°K isn’t Xn*>7IRT
e
a) Partl

i) 777 " says that the AR MOK isn’t RNPRT

ii) but 777 " accepts that the m%98 20K is XN™RT
b) Part?2

i) In pwrp noon there’s a np?nn of ooXin whether the R MoK is also Xn»IRT
mooin disagrees with »"wA
a) 17w ' says that even the 77258 M0°R isn’t XN 7IRT
R"wIN

a) It’s not clear from m»oIn whether Mmoo brings a & to its 7w w from 2°11 noon or
from "xnynw 0" at 20 A7

b) %"wnnn says that the &1 is based on xnynw 10

c) X"wnn says the muw of H"wnmn is a pm7 and in fact mooin brings its &1 from
2711 NoN

Twni of mooin
a) Xwp
i) It’s ynwn from 2°175 0 that 77170 ' says that the X7 0K IS RNMIRT
R"Wn
a) °"wn has already noted that a Xin in Pw7°p noon says that the R MOK IS XNPRT

b) But mooin prefers to ask its x*wp from o°175 nn because there 770 " himself
says the MoK is XN»KT
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NNINA NIOX 10'N '] [IynY "1 A" Tn

"> 2177 NINR 2R IR MORT AP 'DRT P2 % MR O RAT "D o v A
1D WPRD 1A' 27 NINR 2D IO MR JaNDD 2927 ' MRT DT TR B'oy
(3" 'onT 'O ANAR 2I2DID T2Wa AW NDR POWT KOKX) 7' A 'vina 'y
MW MTAT IR BRIV 'onT p''on nNtan T W' aw 1DINMT RYN]

{@s1 N2

K97 2"y 13 nb TURRTR DY 19 RLWD 2997 290 7P N KD 7''N2
IO DITRITD R TR 210 N30 XN SPINT PAYRARR 1ApY YWD W0 RN
LANROY RTIAPND D' RPY N0 wnh TuRRTR 2R Db 3 RS RIT "D
=7 X2 »''2R7 2"V RDR 10 1901 2970 2197 RN TIURRT OPID bR
1D MMITPRY RO20M JWTY T M1 29T ' awa Db 'owni ' »''abh o
2T

1) First nnipn

a) 72X " says o712 oR> X7 teaches an nx17 MoK besides the 7%°ox MoK

b) "“pmn says that o912 o8> X7 teaches only an 77758 110°KR
2) Second 1n7p based on the xna at (X2 77

a) A oo says for 79°21 that "131% 7197 W 73300 TYW3R WK WO"

b) 17 " says the purpose of the P09 is to teach that 0anos o927 and n°n1 of 75021
IS 9Mn only to a 73 and not to a 11

C) xn " says that
i) There’s no 17 of 12025 027
i) There is only a 17 of nn>7p — the meaning of 7°7p isn’t relevant here
3) Third fn7pi
a) oRw
1) since 7°®» " doesn’t say that j2n33 0727
i) must it be that he applies 7ywa WK 717 to teach
(1) the nvw of y7ax " that
(2) o7m2 ox0 &Y implies 7R3 MO°R unless there’s a specific 07
b) nawn
i) °"wn
(1) No

(2) 2°xin "1 can follow the vw of “p1n so that 7%°21 would be 1R3772 01 even
without 7vwa WK 37

(3) and he applies "vwa qwk 732" to teach the 7 of nnv7p
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4)

5)

6)

7)

8)

i) moon
(1) 2°xin " relies on X120 to derive anTp
(2) So it must be that 7°x» "y agrees with the 7w w of yax ™
X"wann
a) "&nto the nuw of mooin
i) The & nx at :x2 77 takes it as a M w» that 7°x» " follows the mvw of yax "

i) And doesn’t even suggest that 2°&» "y might apply 7 wwa awx 23° to teach the
17 of 7R and so could agree with the vw of “pin

X3 here
a) Nwp to yar "

i) "nwiT T R (09m2) 19980 K7 19 93" for 17ax " should mean that nwin 73 is MoK
NIT2

i) Yeta mwn says "2 nwi1 73 1017 7 2R "
b) 10 as explained by *"w1 and X"wnnn

i) The mawn follows 777 " who holds that the x37 2n°n for 79221 from wx >
n1nn avwa applies also to its P72

ii) In fact ynw " disagrees with this 7v°% and says w17 73 is 7RI 70K
mooIn
a) Nwp

i) 7T " says in 797 772Y noon that it’s Mok to send a 777 to a *o1 if there’s a
Wi A in the 7

i) So how can it be that he is the Xin who says that »121% 77> now
R"wIN

a) nmooin didn’t have to bring a &1 from 7371 7712v noon to prove that 77 ' says it’s
ToK to make a 71°n1 to a °1o3

b) mooin could have derived this from the X3 here where 7717 " says 12005 0”27
and that 7°n1is amm only to a 7

c) Note that
i) Moo in Twan 93 P at (7P 7 says:
(1) o1 nann %2513 72W *1wI37 10°% MOKI 720D 027277 MR AT
(2) 791 ATV NODMT KNP P92 RN T N
Twnn of mpoIn
a) Nwp to “pimn

i) How is it that nwnw " says that 7wan 723 is 7R3 MOX even though the o8> kS
for awan 7 is o212 and not »xa
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b) y»n
i) You’re right that it can’t be that 'y»w "1 agrees with the fu-w of “pm

il) In fact we’ve seen that m»oIn says that 2°k» ' also doesn’t agree with the nvw
of “pmn

9) x"wann

a) Note that we’ve established that *"wn holds that =°x» "3 can agree with the nv>w of
Ry
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WPIY TP NI B BOY 99 NNT ORI AT AN NS "2 2T v 7'

1)

2)

3)

TP RAT AN WA D02 7T 921 2pna ane
mlabs
a) Nwp
i) A oo says 0?m2 07 o8R0 K2 and yet a mwn says that o7 is axi2 NN

ii) This is a ®°wp to 172K " who says 07112 7580 &7 teaches x172 o>k as well as
77799K 710K

mooIn
a) Nwp
i) We established at 72%m x°77 7"7 on .20 77 that
(1) When the x nx asked a similar xwp from 7wis 73
(2) the x 3 answered that "0 77°3 7270 X071 79021 7Mawd”
i) Why not say the same for a7: 77M7 21 AnT ARma 7NnwD
R"wann
a) Moo says 121 mra 7Maws instead of 79221 Tmnw>
b) Because nm»oin means that
i)  When the mo°x of 77221 was a7 for mnna
ii) 07 that’s part of the f»n2 was also ani from the Mook of 7%°21
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D2 "2vm a"Tn
12W 7792M 17972 %38 M yroa
B"op "D 7TONN2 2T NINPT ORP INBRRY PRYI PR V' AT "D 3R P 'l
RNMM2R ORPT ROR 1027 0002 PO PRN RPT WIDD 290992 1 KD 7INDD
N2 PR TR VR KRR TN 3 TPRYIR PR PORT PNTR RID XX INRT
N7 990 2w 0% RDT NT7R DD PRIVR 207 ORPT W IRIBNT 'DT RINOT NNoM 12
SINART TR '0RT ROMD R WADD IR R7UT D'HRY 12 ORI PR TUnn2 277
POV PRRT YRR N7 RAPNAR ORT POV PR P''OD a9AN2 27 923 NPT ORP
RNTINTA DAR 7227772 KON 00D KD %1 @' 2" RIT RNODY ORP 2O NARPT
TP'TY PR PRT 920 Al TN
1) First nnipn
a) IM¥H WY 07 means P01 XY o7 when the o7 is Xy from the wipn to P7p Hm
b) n%nna o7 means 1 7 *19% 07
2) Second 7P
a) "2 PHYI IMEn Wy 127 72 PR
b) there’s no 77°vn for ap a1 IR 07
3) Third anTpn
a) mwn in a2°vn noon
1) nwaw "
(1) xwm
(@ "2 oy Prnonna 07"
(2) xo°0
(@) "P7p PP wIpnn XYW [Ap°71 IRY] 072 Py

b) To make the x5°0 consistent with the %2 of 227 7% X it must be that the 555 deals
with Xn»IxT7 77°yn and the 89°0 deals with 11277 7%vn

RAVNRTA 79777 IRY 072 7OV PR 12 7RI IMEA WYY 127 T2 PR 992
12 7P7VIA X INPINa 07 NYRY " mWwnT XUNM
2971 72 7OV AP KRR a7 NYRY " 7IWnT XD

4) Fourth npn
a) Xn°12in a9°vn noon
1) Pynw "N Rn M
(1) onTa oy
i) onon
(1) on72 POy PR
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5)

6)

b) Since nynw " in the mawn says there’s no 77°vi» for 1n%nna o7 it must be that the

RNPMIRTA 7R MRY 072 PN PR

12 POV INIRA WY 127 77 PR 99

12 PYYIN PR INPINa a7

1HDT IRM NI AR "D TIwnT RWM

132977 72 POV P27 IR a7

1HDT IRM NI AR 'Y 7IWnT RDD

2772 POYm

PWAW "1 PRA "D RN

TPIMT MND 2MATa Phym PR

275m? 8RNI

npY?nn in the Xnoa is whether there is 131277 7%°vn for a1 nRS 07

RNDINTA 7POT MR® 072 70V PR

12 POV INIRA WY 127 77 PR 990

12 PYYIN PR INPINa a7

YR "D TwnT XYM

132977 72 POV P27 IR a7

WA "D TWnT XD'D

792971 AP MND 0BT PIYIN

VAW "N PR M7 X012

12277 BRI NNRY D972 PV PR

Q7Mo% X012

maoin

a)

b)

d)

First 7a7pn

i) in %1 noon the Xna asks "Povn PR 7"7 v"A" and the xs answers that P
RNMIIRTA 1ov17 based on a P10

ii) This implies that there’s a npY2nn between two &7 187 on whether 1511 and
that the npYonn involves Xn»IRT T9°vn

Second 7P

i) the only npyomna in this X310 is between the oonom and w1 »n"9 in the Xn»12
where 2°x» ' and 1waw " say 1oy and o°non say 1o PR

i) and we’ve established that this npY?nn deals with 791 K5 07
Third nnTpi

i) It presumably follows that 1wnw ' says there’s XnIRT 77°vn for R o7
P

Rowp

i) this isn’t consistent with the earlier proof that the npYom in the Xn» 1 is
whether there’s 33397 7%°vn for P71 IR 07

YN

i) inthe X3 be 03 "PoYIn PRT SHRTFHRT RAYY OXn" because the xana refers to
the xw of the mawn that says that x»y 912 agree that there’s no 72>y at all
for \n5nna o7

ii) the X3 doesn’t refer to the Xn>>12 that deals with 13p>1 2nx? o7

R"wAn

a)

WP

i) now that we’ve established that the correct X073 in the X373 IS 1°RT Xnyv °Xn
Riraala)

i) why doesn’t m»on say that the X713 by asking xnyv *&n refers to all the o>xin
in the xn»12 and asks why all agree that xn>»= K72 the 17 is that Poym Px
kel e s i
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iii) This 9771 is more consistent with a parallel ®>x10 in X noon at v1 77 that
deals only with w7pnn R¥177 o7 and not with 1n%nna o7

b) v

i) Even though we’re not 07 the words 21K7 1877 when the & mx asks Xy R
TV PR

i) Still
(1) if we were to say that %3 PR Ry *xn refers to the xn»n2

(2) it might be ynwn that the xwp is only to o*>om in the Xn>12 who use the
words "%y PR" and not to Pynaw " and 7°kn ' who use the word "yoyn"
—even though Pynw ' and 2°&n " actually refer only to 13277 7%9°vn

(3) and this wouldn’t be correct because we’ve established that for x> o7
P27 even Nnw M agrees that there’s no RN7IXT 77°v» so that the x>wp of
Xnvw *rn applies also to nynw

iii) but if the x7nx refers to the xw» of the mawn on n>nna o7
(1) where there is no anx7 181 who uses the word 15311

(2) it’s clear that the 728w of "oy PR XYL *R1" goes to X1y 71
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RPI7 PIODT WATHY K20 PRT W10 2''1."19 093 7095 KD 15 2570 RAIRY 7''72
RO ROKX 79501 TR 12177 3902 2% 2NDT RIAMTY W9OBR 72T 28 DY 295017 20

:2"'97Y TIDT RIT RN 700 PITON

R'"wN

S"DT RPN RPT B D" oY 110 BoRN KPR JOWTY RPANT 1D 100 29D RN 7'
259 KD 12 1007 25 RMIDIND ORT "D PN 2 AT DR RN RWPIT
N9OAD 937 K97 99D TOD 2T IXTN RINI DIRN KR 7109 3907 K9 D9 Rwpn
RTIDIRPR RTNT2 9DV YRR KD 2MDT WPNIT NYARRAT 90 RINNTE RPN

TR'IITY IR PORY 09 20121 PR 712 DN A

1) xm

2)

3)

4)

a)
b)

c)

d)

172X " says 022 7oRN XD means R37 ook as well as 79798 Moo

Xowp

i)  Why is nX172 °min o7 even though a 100 says o7 o8R0 X7

'aRb

i) 07 is X172 Imn because o7 is wpnex to oon

Xowp

i) Why don’t we say that o7 is X172 0K the same as "nam: *23 by ook oon"

noxw of m»voin as understood by both 5"wAn and R"wann

a)

Can it be that the X3 asks that we ought to derive an ix7 20°Kx for o7 by wpon to
"maran 223 Y 0°o01nni oa" that’s X172 MOKR

n2wn of mooin as understood by 5"wamn

a)

No
i) We can’t derive an 71X Mok for o7 from nam: °23 Sy ovooinnn oon
i) Because most o1 is fiX172 NN

n2wn of mooin as understood by R"wann

a)

no
i) Since the x7n3x here follows the mv w of y7ax " that

(1) o2 9axn & is enough to teach 17 MO

(2) So long as there’s no w117 teaches that 7R3 is A
i) To teach an mo°R

(1) The 7™ should have avoided a wp»7 altogether
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(2) And should instead have relied on the mv*w of ¥7ax "
5) Twnn of mooin as understood by both 5"wamn and X"wonn
a) 7oRw
i) What then does the & nx mean by its xwp
b) nawn
i) The & nax asks that
(1) for o7 there is no A% w7

(2) because the wp»i7 can refer to oo» that’s X372 70K the same as it can refer
to o°» that’s 7RI72 Mn

ii) so
(1) there’s no 1R "0 to disturb the x5 MoK that for w7ax ' is implied by
0212 PR K7

(2) and the x>wp remains on why a7 is fiX172 NN
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22D 71
X7 Ny ' Nwa X"T10 D" TN

IR 177 B''oY "D WA YD 9TAYT 23 DY AR 12 TIURNT "D wa R"'To ''72
W'Y INITR 1OIRDY [Bpo17] BRpwaT Ko7 RPIT RIP TIVRT KA1 RDT WMWY 1R
AL
1) xama
a) Nwp

i) Both “p1 and 172K " agree that »7°xa 558> X7 teaches X1 MoK as well as
72728 0N

ii) For %po17 7w one P05 says 1wa nX (>7°832) DIR KD

iii) So why does there also need to be another o5 that says *pa7 1wi Hva to
teach 7R MO

b) y1n

i) p17wn Hvais needed to teach that 17w is also 7x372 MOX even though it’s not
included in w2 nx o8° X

2) nmooIn
a) Nwp
i) Then why did the »o5 mention 1 w2
i) Had it simply said 2ox> 8 we wouldn’t have needed a special 7% for 1w
b) v1nas explained by R”wAnn
i) "wais necessary to teach that the 2w is x372 MOK
(1) even if the MW wasn’t Hpo1

(2) but was vrwz in the manner of a 2w from which there is typical “wa
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217 L 2R 20D DI RITR D R RPN MDD RAP N7 KD PR

R'"'wann

"> 2% 259 KXY AR IAPDTIT NNTY ORT "D 2997 N 2005 "o B''Rb ash n''Ta
TR N7 TANTR 255 2Y9NY '3 KUK 290D 717 KD ORT 2 PN D wann any By
BY AT N WY DO 290D 20 RN KRR IR MOORD 2999 7MY D N2 20
2N 77 KD 1''RT 2900 25 RN RPW 2R IR 920D 1BR 21 2P N7 PNaT
227 MY 19 NOR RN RDWTT KPR 29299 2IVID IR 209 IR N7 2y TR P
SRT FINIT MOIRD 29 T RV V2D MO MW YT T KO(T) {20 )y
TOR IR TN TIRDDY FIRIT AR NS 290D 2DY MWIN NI B9 299 2900 T KD
SAN 777 OR 2999 Y01 BORY KD 2900 17107 ORT RNT INN207 D2 3197 2T awd
TIT OR 321 2990 9N DORY KD 717 ORTP RNDNR TS IONKRT N7 29299 ynwd asb
2999 77 DORY KD PINRT ORTY 29277 P11 257 30K 797 O 239y T DoNY KD 2vn0
NN 2597 R''77 299Y 29N5 KD ORT MY RDIDT 7UOARY IIRIT MWIIT NN OKRD
PIVI® 2097 [Mnvmb] R2OR RPN [Pa7] (W) 929N RNWT R''RT RIT WIRb
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R 92505 17377 981 29299 PIWIY SRR KD 2097 0D RDINT 2% 'Y UK NN 292
BORY RDT MPARNR 7% XPDR 2D9T 2MWH NP RNPN R2WT R''57 2999 M0 DR
RIIRY FIPD75T NN YA SINIT 27 MORI KDY 299 0N 1TT ORP 12 20 T KDY
Nnb 77 2''RY 29200 PIID 255 SNRT KON 957 MR 30 N 2''YT DR 1Y Rwp
{2521} 2% 7 DR K® 290 7717 0K 321 10 77 KDY 230097 KD 0'TURT RMITIND R
255 K9 299Y 215 KD IYRD SNRP ORI KON RPN 37 209200 PIVID DR ON

P

7 D"YT BB op "2 R TRWAT 2D 209 IR 9D DORY KO J19MON 797 7''N2
RY 9o X5 [2R2] BaR XpDI TR DORY X9 RIT W7 2WD 209 TR JMPm
RRPIRD R2IRT 192 w7 2120° 2999% 77 RUTT RAPIRY 12 109 7IRIT V0N 20 KpD1
2D IR TR MPIRD RO RNWITT 2ND20 DY WIDR 2999Y N2 I9) YA MIORD
N7 2D SNTNT ONR MOIRD A1 TR MOIRD DR DMWY IBBN AT 100 W7
N7 QM T2 YT KD 2I9NY RNDN2 NART DY 191 172 RAPIND JOPTY K97 ORT
WY 2P TR PN 20ND 717 OR ROR DR MOIRD A1 N MOIRD NN ORITTAY W90
TR KD RMOINRDT ROWTT K20 21D W7 21D ONRT 2" YT mD pbnb 17 byab

2171 11D 30 R RTTRT 120D RITRY DORY R9R 1T9I0 PINRT 190 R

1) First nnipn
a) Mmooin at yax> ROW Pan "7
i) Even if we know by some w197 that 7% is X172 10K

(1) There needs to be a separate w17 to teach an v°2x M0°r for 79w because
702% is only XnHva Rnn

(2) And there needs to be a separate w117 to teach an p270 Mok for 757w
because np?77 is 1v°2 717

2) Second 7P
a) “prand max " agree that »xa 5580 X7 teaches X1 0K as well as 7928 MoK
3) xp»32
a) Based on the word o°%7y that appears three times
i) 797y is X172 70K
i) nY2%3 MOK
iii) 7p?772 MoK
4) R
a) Xwpto “prand AR "

i)  Why is it that 757w is 7x372 0% only because of the special 717°% from an%
o°%w N

i) Afterall
(1) both y7ax " pri7 agree that »7°xa 7oK X7 means X7 MOK
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(2) And for 77w there is in fact »1°xa Ho8° &
b) v n
i) "o5%" 2°n>7 onn IR
(1) x> oohw R"70
(2) "p
c) xwp as explained by >"wA
i) M0KRY °XIP 717 95 °2°N2T7 RNW XYK"
i) ™9 n% X0 vawnT 0o?
d) yn
i) Do teaches 0’217 yw1
i) The meaning of 0°27% ¥ w1 isn’t relevant to this X"wann
5) mooin — xowp of 7ampn "
a) 1> of the xwp of Pampn >
i) APRTM AYeaRh OO "IN 227 D09V '3 TI0ROR RDR 72Mpn 2" nwpa
b) =2

i) Why are 9o &% with three o>y and 0o% needed to teach the three oo of
7R317 and o2z and 7pY7n

i) When the same result would follow if there were only two 2>y with o8> 8
and 0>

iii) since
(1) We’d know 78371 0°K from »x2 080 X7
(2) We’d then apply one 277y to 7¥°2x and the second to P57
6) H"wann —Xwp to 7aMmpn 0"
a) b of the xowp of H"wann

i) 0991 227 "2 KOR N0 M RD ORT 2"PDT RIHRY RO 70 1" ORI POWH PRY AR
2°N2 009 MR ROW 7RIT MO°RY 2O 7M1 09277 Y017 X2 X7 D27 I N 7277
20D PO RITW 12D W RAN NORY RIP M7 KD P27 V028 NONR? T WP
2T L 0N

b) =2 of the xwp of 5"wamn — part 1
i) There are two possible 0°5%7% in the X
ii) First 72mn — 7% of "0°21% v oo"

(1) Even without o7y we’d assume that 0% for 77y teaches 0°27% 11
instead of 7R3 N7

(2) 9apn >"1 follows this 7%nn and that’s why he asks that
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(@) if there were only two o>y and 0o

(b) 0>% would automatically be applied to 0°27%

(c) So that
(i) 2ax° &% would teach xa7 10°) undisturbed by a x37 an0n from 0o
(i) no o>>7y would be needed to teach 817 MoK

(d) it follows that
(i) one o°%7y would be available for 7y>2x MoK
(ii) the second o>y would be available for 7277 10°KR

iii) second T%mn — 792mn of "XnX AP AL 03"

(1) Without o°%7y we’d assume that 037 for 797y teaches a 8377 2077 that
would destroy the mynwn of Hax° &7 as teaching nxam MoK

(2) That’s why
(@) Were there only two 2%

(i) One o7y would be needed to restore the 1ok of 7oK &5 by
teaching that 3% in this case doesn’t teach 1837 20> but instead
teaches 0°27% y:

(i) The second o°>7y would be applied to 7y°2x M0
(iii)And there’d be no o9 left for apH7 MoK

(3) Note that this 72 answers the x>wp of 22pn *"1 because it explains why
the X needs a third o°%7v for 7p?77 MOX

c) w2 of the xwp of 5w — part 2
i) Refer back to the w5 of the x7na as explained by *"wn
(1) xwp
(a) "0RY °XIP 737 95 °2°N0T XNWT KRR
(b) ™% % X0 yRwnT 3o
(2) yrn
(a) oo% teaches 02217 y11

ii) It’s obvious from this N5 that the X3 needs to rely on o°%7y to force 0> to
teach 0°21% 1 instead of 7R N0

iii) so the second 127 — that ®nX 3p2777 n°7% 0% — is correct and the xwp of >
9277 is answered

7) X"wAnn — anan of the words of 5"wann
a) b of R"wann

i) X2 0372 MR N 7207 2071 2999w "2 R9R 2902 77 8D ORT 712 7D PM'wnan and
N7 17727 DY AR W "'y DY 2005 00% KRN ROW ORI MORD 20y T Y01

35



N1 207 1 0 2200 737 KD 1"RT 2200 027 RN XYW 2WR IR °2°02 19K n1 099y
M R2(7) {2097 T2}T 007 WY 12 IOR RO XDWTT KPR 0°277 11017 NR 027 IR
N1 592 097V 2502 737 KY ORT ARIT NMOR? 2O9W T RIT Y022 0K N1 VT
RIT AR °NY 2200 032 MR

b) nnpnto a xowp by X"wann to 2"wamn

i) %"wonn by his words “were there only two a%%9p” seems to say that for his
Tonn of RnR aApPY7 o

(1) It’s only if there two 0°%7v and 3%
(2) that we’d apply one o>
(@) to confirm the 7R MoX of 98> K7
(b) and to force o037 to be applied to o°27% ¥w1
c) Nwp to ?"wan

i) Even if there were only one o°%v it’s 9anon for the 7%n of RnX 7R3 N>
that we’d need to apply this o°%7v to confirm that

(1) 72 9o KD teaches X1 MoK
(2) and the purpose of 037 is to teach 0°27% ¥w1
ii) and
(1) the only difference between where there is one o°%7y and 03> and where
there are two o°%7v and 03°
(2) Is that
(@) where there are two o>y and 0>

(i) the second a2y continues to be available for ny°ax mo°K and it’s
only for P57 Mo°x that there is no o°77y available

(b) while where there is only one o°%7y and 3%
(i) no o> is available even for 7y°2x MoK
d) yrn
i) Be man the words of 5"wnnn to make it clear that

i) 2"wa7n mentions the 19 of two 0°%7y and 05% only because that’s the case
that 2271pn °"1 deals with in his xwp

8) X"wann — y1n to the Xwp of 2"wAin to Hampn o™
a) 7w of R"wann

i) M oK R? 2°ND M ORT RAT INN20T 2°27pn 2" 9027 2w TR VIR 7N TN
2°99V >IN DR KD 17 ORIP RN2NM 17212 1ONRT ORTY 22277 VK12 237 DR 70 R 229
7M1 oK RY 1°NRT ORTY 22277 $I037 227 SNR 717 O 2297 T 9IRY K7 2°00 717 0K 19
D°97Y o010 RY ORT {2"wnn nuwa} ok 83UHT A°AN) IRITI1OIT 2NN MOKY 209
TN WRNWR TI0XR 009 DWW RN D NPawaRT amva} RIOWIWA? DR 0397 R"7
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X >0 [°27] (077) °2°n27 RNwn AT {ARpD T 1007 "R 1 RMOR 1IWRR 1991 009y
NN 0°277 M1017 0097 [n?] RIR

b) =2

i) This is the 791 of 2pn °"1 that supports his X°wp on why two 0°%7v ought to
be enough to teach both ny°ax M0°K and 7p%7 MOK:

ii) The basic nvw of 5"w-nn is correct that
(1) if there were only 03 and no o>y

(2) we wouldn’t apply 057 to 2°21 yw1 and we’d instead assume that 0o
teaches ax37 2n°7 and is nvawn the 7R No0°KR that would otherwise derive
from o8> X

iii) but
(1) once there is even one o>y
(2) this o*>y teaches that
(@) the assumption that 027 for 797y teaches X117 20> isn’t correct

(b) and that 0> for 797y would teach o°21% 301 instead of a nXx17 07 even
without any o°7y altogether

(3) so that the o>y is available for 7v°2% MoK
iv) By the same reasoning

(1) If there are two o2y they are certainly enough to teach that the correct
assumption is that 037 for 77y teaches 0277 2

(2) so that
(@) 7ox> &Y in fact teaches %17 70°) undisturbed by o3%
(b) And the two o°%y are available for 7y>ax M0°% and 7p%77 MO
9) Further words of 2271p» > and X"wAn
a) MY of S2mpn "

1) D09 7MY AR 2OKY RPN MOKRN 07978 7372 71 X1 027 23027 K2 ROX 7277 0009 ORT
TIOKR? XIP PR APPTA VoA

b) 7wY of the mxoa of X"wAnn

i) X2 0327 {PTIX 2"WIIn NYIWT M2 ROX APDTN N7 MM RIORT DWH 2"YT RO
NP9 0297 DIWR PRIP XN2N K727 X" 2997 01 9aR° X7 92°N2 737 °K1 092717 1017 °NX
TY°2XY RIT 27 OKRI XYY 29IV 0N 0107 ORIP 2 PO M R DIRY RDT Mvawnn 109

P27 7IMIm

i) XN2n M 2" 0°277 3017 007 SNRT ROR 07 M7 12 NOY 2"YT DY 17 XOWP RN
"2 717 XD 210079 KD 2"9RT RMORD R

C) X~
i) 9ampn " proves that
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(1) the 72nn of XnX Ap%77 N

(@) namely the 721 of 2"wnn that says that if there were only two 2297w
there’d be no 1837 Mo*x for P77

(2) isn’t correct because "o°%y >3 T 0% 2312°H RY [10 oX]"
(3) Meaning that

(a) if there were two o°>7v and 037 | would have realized that it must be
that 7577 is 1oOX

(b) because

(i) if the 7977 of Mox npPY77 N°aY is correct that 7v°2x is 7oX but
7P is ann if there are only two o°97w and 037

(if) The mos could have achieved the same result by using only one
0°77v and not using o> altogether

(c) since if there were only one o°>7v without 0%

(i) >7vx2 Hox° X2 would teach nxa 10°K since there’d be no 037 to be
nvawn the mynwn of Hoxn XY

(i) ny>2x would be ~ox based on the one o9y

(iif)np277 would be ana because no o°27y would be available for moox
PRI

10) wni of ®"wann
a) 7w of R"wann

i) ONRP ORI RIK ORIP 2N 277 0°277 W17 DR OR {0991} 297 7M DIRY RD 2102 MR 1
0o% K71 2297V 2107 KY "0wn°

b) =2
i) We established earlier that if there were only one o°>7v and 0>
(1) For the muw of Hampn >
(@) I"d say that there’s n&17 Mok and 7y°28 MK but No P77 NOKR
(2) For the muw of >"wann
() I"d say that there’s nX17 MoK but Not 7¥°2% MMO°R Or APYTT MNOK

i) Here’s a "X to the mvw of 2pn °"1 that’s similar to the "X that H21pn >
brought to prove his f7v>w on two o°%7v and 037

(1) if for one o7y and 037 there’d be no 7v*ax MoK the same as there’s no
P97 MOR

(2) The moo could have achieved the same result by saying 2a8° X% with no
0°%7y and no 0o

(3) Since

(a) As we’ve already shown
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(b) %o%> 8% would teach an nx17 70°% even without o°97v since there’s no
oo

(¢) And there’d be no o7y to teach 1¥°2x MoK Or P57 MR
f) Here is how X"wnin expresses what we’ve just said

i) " nwh Mo} 00299 1015 NR R {0371} 2299y T 2OR° K? 2103 757 0K 1)
N 27 {RNR 0°277 Y1017 027 WK YAIPT INKR? AR 0K 2O IRWI PNORT 21pn
R {12 WANWH IR PNOR 2P 2" NUAWHT 0OV T AR R? M0} ROK RIP
2IN2% RY {7328 MO°R? 12 wANWw? ROW 2297 T} 0wn? {037} nRp {ORT mvo}
{APR77 MOOR K Y2 MOR KD KDWY 1IRIT OOR RIORT RLWD IRT} 032 K71 229w

10) qwni of Ha1pn o' — xowp of "aw7 ow?" and yren of "o i woR oR7"
a) wb of the xswp of Hapn >

i) D97 TM 9IR° KD 2°N2 M ORY ARPTI V02X 1799R MORY YRwn 2OR RONT 01D PR
107 PRI AY°2XY ORIP POIXNT KT WAT 2WH 229797 AR 92 PORY XYn 110K M
1 M 209 2997 N 2200 7T R °I7P1 AR 9D P NaR vawn 0397 059 2n37 own

ity

b) 1wY of the 90 of Ha7pn °"

1) DMan2 KT RIT MY RN RTT A0 1AW K7 29K RONT 19 017 oK OR[7]
C) X" by XR"wann

i) xwp of "nwaT owd"

(1) Why did 271pn »" say that if there were only one o°27v and no 032 we
would have said that 7p%77 is 2nn

i) Maybe
(1) Where there’s no 03% and it’s a mu>w»s that 9380 K7 teaches X171 MOX

(2) ny»ax and 7p>77 would both be included in the nx17 710°% even without any
kil

iii) And we’d have applied to nwn7 0w the one o7y that exists
d) y1enof "o i woR R
i) This 9771 can’t be correct
(1) because we’ve established in the fn7p: that
(a) Because v°ax is Xnova knrm and ap27m S 17902 717
(b) Each is mox only if covered by its own o9y

(c) And it’s not correct that »2°xa 558> X7 can teach a general nx17 M0°K
that covers vax and P57

11) R"wann at 137708 M7 7R3
a) TP
i) We’ve established from the x>wp of 2271pn > that
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b)

d)

Q) If

(@) there were only one o>

(b) and ny°2x weren’t just X152 Xnrn and aPRT0 weren’t 171302 17
(2) then

(@) nyrax and ap27a would in fact be covered by the nx37 0°% from R
iy

(b) and we’d have said that o°%7y was "7wa7 2w? 21n2°K"
then we have this xwp

i) for the yy°n of 22mpn > that in fact the nx17 0°KR of 20X X% doesn’t cover
av>axg and apYTa

i) what makes us decide that
(1) if there were only one o°77w
(2) the o> would teach nyrax 20K instead of aw-7 ow
'aRbY
1) Inhis xwp
(1) 22pn > assumes that v°2x and P57 are already Mok based on 7o8° X2
(2) And

(@) Since the one o>y can’t be applied "913% - meaning for an 7y°2x M0°KR
or an mpL7n MoK

(b) It’s manon to apply it aw-7 ow?
i) Butin his y»°n

(1) Sampn > says that we can’t derive an Mok from 58> X7 for ny°2x or
7277 without an o> for each

(2) And it’s a mvw» that
(@) If there is only one o>y
(b) we’d prefer to apply o°%7y to "o1% 7y°2x" than to some other nwa7
Xowp
i) 1 understand this 727 where there is only one o°%y
ii) But
(1) Where there are two o°%7w

(2) Why does 22711pn °" ask throughout this x>0 that we ought to apply one
o°97v to v ax and the second to poT

iii) When
(1) Once we’ve applied one 2°77y to "513% 73728 MO
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(2) we ought to be able to apply the second o°%7 to nwa7 DWwH
laRit

i) Ifin fact we’d find one w7 for both o°%7v it would be more q2non to apply
the mwn7 to both

ii) But since there’s no one w27 for both

iii) It’s more 12non to apply both 214 than to apply one "“o1% and the other ow>
w7

Note that
1) The same y17°n applies also to the xipon of the xna that says that
(1) where there are three o>

(2) we apply all three "% namely to nxa7 Mok and to ny°ax MoK and to
7277 Mo°R and none to w7 2w
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n'7'21n "7 191 XA 2D QT DY AN

QDR 2ON2T TIRP 2NDRD 2T IR NOWRT 200 RPTR DN "D asxp 7''7a 'on
N7 MART IPIAYY 02 WONT ORM A" M1 oNaNT 2onRnn 3'RT PR Doy "o
B IR PP KDY ADVIP ANTT T T 0 BRI DOT 257 202N
TP JIRNT WATRD RDINT RDITT

23 239 2on2712 2''N SnaRT PR "1 29927 MRT ' B0 a2 v pam 'ns
TOMOZORTA 1T DRARR FIRIT MOINRT 2"V UIRY RDT NIDRRRR PIDRY PREY 1R
SP'INTY ARP PROWY DT RIS B'DT RAORT 97 TR KD 2DNIRPY 25n»1Nn

1) X

a)

b)

d)

9)

h)

172X "

1) vnwna AR 0K 0212 DOR K

P

i) vnawna 998 MOOKR 0712 YORY R

i) Yynwna aR3T O "7 PIR0 KD

X°wp to 1R "

i) A s says for man that wp (09m2) 2o8° X7 91 5
il) yeta x> may have nxi1 from 170 by using it to make an 21y
'aRb

i) The oo refers to 170 as aanmTn

ii) This implies that a 5& > may have nxan from 7m0
Xwp to “pin

1)  What does aani1nn teach for “pr who holds 72190 is R332 9nn anyway
because there is no »xa Hax° &5 for 770

laRit
i) “onmnn” means the 7m0 that Hxw° 92 are o7
[ailgtahiniyl
SR 9 PN
bkl AR "M
Xwp t0 178 "

i) for wn a poo says o072 oxn &7 and yet wIn is AX172 NN
717N

i) The moo refers to the 7°xp of wn as odxp

ii) This implies that a x> may have nx17 from wn

Xwp to “pin
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i) What does o>xp teach for “pri who holds w7 is nxin2 anmn anyway because
there is no %2 Hox° R for win

) rn
i) “Dd>7°¥p” means the wn that H&w» 93 are Txp

o7xp 0onm1Nn
ORI 9 ORI 9 i
RI7 Nn X3 T TR M

2) X in mnan
a) 0o>7°¥p teaches "mxn xp XX
3) mooin
a) Xwptoar ™
i) Since 037°xp IS necessary mn 1EP XX
i) how does 172K " derive X317 00 from 0o°xp
b) xwpto “pin
i) instead of answering earlier that 0>7°%p means X2 93 5w °xp
i) why doesn’t "p1i explain that the purpose of 0o7°%p is m¥n P XX
c) yn of mooin as understood by the R M7 of X"wAinn
i) mowof yark "™
(1) we can derive two different o>1°% from o>¢p
(@) The first 7w is from the fact that the P05 doesn’t say 7°xp

(b) The second 77 is from the fact that the moo says a>xp instead of
R

(2) That’s why in our x7n3
() 1728 "1 can derive nx37 0o from ooxp
(b) even though in mmnan we already said the oo teaches mixn xp Ro¥177
i) mow of “pmn

(1) only one nwn7 can be derived from a37°¢p and only one 7wA7 can be
derived from asnmn

(2) Now

(a) since "“pr needs to hold that 717 °n° can’t be the wa7 from either
QoNMINN Or Q2P

(b) And since
(i) for oonmn there’s no w7 similar to mxn ¥R XoXIT7
(ii) the only possible 7w=7 from oonmnn is HRw° 93
(3) it’s 12non that
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(@) the only wn7 that “prn can base on 037°xp is also PxRw° 95
(b) and that’s why he can’t be w7 from 0>gp that mxn Pxp X°XIT7
4) R"wan
a) Nowp to A"

1)  What second w7 does 17axr " derive from aan»1nn besides the first wn7 of
IRIT N

b) xwp to “pimn
i) how in fact does "pr derive the 17 of mxn 2o%p XI5
c) yn of mooin as understood by the xipon of K"wAin
i) moown actually means that “pr and 1728 '
(1) Each needs to be w7 at least one fwn7 from 0>7°%p and 2>nm1ANn

(2) and each can decide whether it’s also 1anon to be w17 a second nw-7 from
027°¥R or aonmn or both

i) now

(1) ymar s w7
(@) from n37°xp both 7R N0 and MxXn EP XX
(b) from asnmnn only fR3T N7

(2) “pris w7
(@) from o>°¢p both Hxw° 95 and mxn e XOXI7
(b) From oonmn only Hxaw» 95

5) —Twn: of the xmx at 220 77

a) 13277 X177 says that "% 12 yw ' holds that all 2>k in the 710 are X172 70K as
well as 77°5x2

b) aoxw
i) On what 7% did »% 12 yw1 " rely
6) X"wonn there at p1oom "y
a) Nwp
i) Why didn’t the X713 say that
(1) Similarly to yax "
(2) he relied on 70 and wn and said that

(a) since the 05 needs to rely on oonmn and 0>7°¢p to teach that in these
special cases nx17 is "mn despite the 7928 MoK

(b) it must be without a special 2n°7 there’s an 7817 M0°R wherever there’s
an a2°oK MoK
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b) y»n
i) 73277 xn held that

(1) Although "% 12 yw1 " disagrees with P and holds that every mox
272X comes with an x17 10K

(2) Still "7 32 ywr " agrees with “prn that neither asni1an nor o>7°xp teaches
TRIT N
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n"TN 20 97121 ‘1D DO 'wa X71 7IX' X7 Xannn 2mdY X7 ' "'l ‘'na
n'7221n "7 J1omi

27299 PRT 2w anD "D 205 wa KDY oRY KD R1AAN 2100° XD "0 ORI R
29029 KDY DR KD 2nonD B''7 0'RT 19770 290072 1WATIIZ AN JIOK 7 25V IND INT
IND MOIR DORY KDY WY MOIN2 90 YRR KD INMT 27 20007 PaT 'y v
SPIDRD 2DY TIURRT RPAOIRT RO M1 797 KAV [P 7790 982 19927 305 'Y R
BoRY R anon® B o'RT MR RDIDT WATIIR AR YRR T N7 Wwhwnn
0''YY AWK IRIT MO {72} PORY KT 1907 KXY RAWTT X220 2190 KT {71032}
255 TTIVER KD IDITRY RPIT UMDY MORT 10 JNNTA KON DR KD 151N IR0

JP"NTY FINIT NN PRRAT PORY KDT MpRwnan dPIDRD KON

a3 29% 2v097A BN NaRT PP 10 22T MART "0 Do vam R Poom na
TOMURORTA 1T PRARR FINIT MMOINRT 2"V ToRY RDT MDRRRR PIDRD PRRAY 1R
2T MRP DR D27 ORI D107 RRINT VT WP KD 2DTIRPY 25NMIN

1) First nnipn
a) "prm says that
i) 07m2 208> RY teaches only an 79°5x MoK

il) %2 90K XY teaches 7%°oKk 70°K and also that x37 is Mok both 7%mn3% and
73377

2) Second 7P
a) for 0¥ w a p1od says ¥ PoK° RS together with a3% and 1

b) 5% without 17> would teach that the *1°xa %o%° X for o>xw is an exception that
doesn’t teach X377 MO°K even 7°1n3°7

c) But »n restores the x17 00K
i) for a%nno°
ii) but not for 7av>7 where "% "
3) XM
a) xwp by the ywpn to “pin
i) If a7ma Hox0 & teaches only 79°0x Mo°K
i) why didn’t the P09

(1) use o7m2 o8> X7 and avoid 037 because there’d be no nx7 MoK from x>
07112 o8> even in the absence of 0%

(2) And then use 7> to teach that nx17 is oKX in a case of 7%nn2°
b) y»n
i) The oo needs to use 0o to be nx17 7o nn from oo w
i) Because
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(1) “prn derives his rule that *1>x2 ox° X% without a 017 teaches x37 M0°KR

(2) from the very fact that for the 17 of >3~ the 105 needs 0> to be °nn
7R37 where there is %2 580 X7

4) H"wann
a) Nwp
i) The ywpn ought to have understood that for “prm
ii) If the moo had said o712 HoK° &

(1) It’s correct that even without 037 we’d imply no 7X17 0°% from 558> X7
apllyl

(2) But we’d still need 0o to teach that the x17 10°) from vi7° applies only
monnab

b) y1n
i) The ywpn understood that

(1) If the p1oo had used o212 78> X7 without 2% and then used 17> to teach
that %37 is still 7ox

(2) We’d have known that 1°77° doesn’t teach an X377 M0°KX even 7237
(3) Because if so
(@) Instead of using 07172 o8> 8% and 177> without 037

(b) The Mo could more simply have achieved the same result for “pi by
using *7°¥2 Hax> X2 without 171> and without 0%

5) X"wann
a) First xwp to the y1on of 2"wAmn

i) It’s not correct that we’d have said that the 105 could more simply have
achieved the same result — an 7X37 0°K even 72v°7 — by using >7°%2 20K X7
without v

i) Because in fact the result wouldn’t be the same
(1) »misan nwy
(@) so if the p109 used o7m2 Hax° X2 and relied on v for axT NOX
(b) The mo°x based on 7> would count as an mwy
(2) While an mo°x based on »°xa HoR° X7 is a nwyn R
b) Second x°wp to the y11°n of 5w
1) nnpn

(1) Refer to the y11°n of the &7 that “pin derives his fww from the 17 of
oW this way:

(@) Since the p1oo says »xa 9ar° X7 and needs to say 0o to be nx17 2 nn

48



(b) it must be »xa Hox> X7 teaches that %37 is MoX so long as there’s no
a0

i) xwp to H"wann
(1) this proof would be invalid if v without 0> teaches 1R 110°R even 7av>7
(2) since it’s possible that

(@) the mvw of “pr isn’t correct and in fact *71°¥2 958> XY doesn’t teach
XI7 MoK at all

(b) And 027 is needed to limit to 77nn2% the 837 M0°R that comes from v
iii) moRw
(1) can >"wnnn answer here the same as before that
() It can’t be that 1°77° teaches an 1X37 0K even 7av°7

(b) Because if so the p109 could more simply have used >7°¥2 958> XY to
teach that there’s an X317 70X even 72v°7

iv) nawn
(1) No
(2) Since

(@) we now know that it’s from this P09 that “pr derives his muow that &%
»79%2 HoR° teaches R MoK

(b) and we’re arguing against “pin
(i) this poo isn’t enough for “pi to derive his mvw
(if) so that 772 o8> XY in fact doesn’t teach x37 MOK
c) y™n
i) Contrary to the mvw of 5"wamn
ii) the plain meaning of v — even without 037 — is an 7R3 MO*X only 7%mN3%
iii) and this is why the ywpn asked for "“pin7 that
(1) if the oo used o2 o8 &9 with v
(2) We’d realize even without 037 that
(8) o2 o8 XY doesn’t teach X377 MoK at all
(b) and the nx17 20K from 17 is only 797037
6) Twnn of the xanx at :20 77
a) 13271 X177 says that
i) "% 72 vwie ' holds that all 2>0°K in the 77 0 are axaT2 Mok as well as 79082
b) noRw

i)  On what 7% does »1% 12 vy " rely to derive this 17
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7) R"wann there at p1oom 7"y
a) Nwp

i) Why didn’t the X723 rely on the 17 of oW where 037 is apparently needed as
a n°n to overcome the 1837 M0°R that applies to every 72°5x MoR
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DNN XY 2" TN

N7 PR 5oy 0 opa KDY OPMY BoRY KXY 21097 ;700 1o ani Rw 17''72 'on
SHYDAT 3" TIMVRRTA TIPIND N20 KD DY OIRTY AR K27 PRI O9I0AT 917 RN
JIARTD DA A1 IRIT TIOIN 2977 19ORN KRYT 'Y NI 2 W RAp (P
RO7772 RO 9777 39 9219 R''RY IR 9997 ' 37 RNN22 P DTy Tmea
"' awa "D MM INAT PP NP 1D YRR 9" awa RnMaa R

1)

2)

3)

4)

5)

6)

@'TY IR PR N Y9vaAn

X3
a) "pm

i) o7m2 958> XY teaches only an 7%°5x MoK

ii) >xa Hox XY teaches that axam is Mox as well as 720K
b) 7R "

i) 0?12 o8> RY and *7°xa Hox X2 each teaches that nxan is mox as well as 772K
XN
a) %7 °01 ' says nod1a yar is IR NN
X2
a) Xwp to both "prand 1728 "

i) how is it that *>°%:71 01 "3 holds that y»r1 is x372 20 even though a oo for
Ynn says *1°¥a Po8° XY

b) y1n

i) 2937901 " holds that 72 in 7% 787> X5 teaches nx17 00
mooIn
a) Nwp

i) fory1ax " we understand that for y»n we’d need 7% even if the oo had said
22172 2IR° R

ii) But for “prn why didn’t the P05 say o112 958> X7 and then avoid saying T2
R"wIN
a) Why doesn’t m»on answer that
i) because
(1) A poo for 25m says 0212 177980 KD 79K

(2) and still a xn>12 says that *>°%3:7 °01° "1 needs a special 7109 to teach that
251 iS 7RI NN

i) it’s anyway ynwn that *9°%37 01 ' agrees with 17ax ' and not with “pin
Tqwnn of R"wann
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a) 9"wann isn’t 0 the name of *2°%3:7 °01° " in the Xn>>12 that says a 9nx7 87 holds
that nooa ynm is X172 M

b) This is a pm7 because there are references to this mv>w for °>°%37 *0v ' in a related
xn»12 and in >"wn and m»doin at several points in this P
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20 7T

AXINA NN N UNRYY AN ani 2" th

1D 9797 17D T2TTRT RO IR 77 KD ARRIWHT "0 2907 7 7"72 [2 Ty as 0|
MY RDT7 7190 779021 H922 2B 77 A" TINDT RN RDT ROR 27190279 R T PR Y'Y
R FIN2IUDT KT ID57 021 999027 9" IRTIT AKRP 7'1WR ¥ 70 99T nwd Rp
RIP RO 7OTOTHY PR WD 1TUR RPN 7297RY 79021 BH02 T KPR
AN KD AR N7 RO MRPT R SIRIT WNMTD R RAPIND 7D NIIT 10D
BB22 N7 NPV IS RIIT 779921 D922 N7 RDT 2R IRD FIRIT WNOTD KPP TIRIN
99212 IR INNT RDT 22 779021 B2 M7 KT R IRIT N7 PIYDT ROR 921
' IRITA 1INTR R TWIN 1O 287 OPIDRDY TNV AIOR2 IR 1R RN
SP'1NTY TOIRITD PIRY MR PAVR APIRWT A7 DA A

1) X7 as explained by moon and X"wAan

2)

3)

a)
b)

"MIPORN KD 9IRY 70K9n BoR Awye 790w 25m 1921 25m"

Y0377 90

i) the extra 5% teaches that 79> 2711 79°21 291 IS 7RI N even VYT
ii) but "Rp 70RR K7 777091 ARV

R2°PY "M

i) the extra 909 teaches that 79°v 2%m1 7%°21 251 IS N7V even 7123 NaR?
ii) but "X9p 7°7% X7 M MoORY"

mooin for o1 "M

a)
b)

X X K? 77707 ARM0YT 77021 5902 L. i ahn!
"R TIVXOR 779721 97 102 727TRT

X"wAnn

a)

b)

d)

Xowp

i) If 251 is 79°21 9932 there ought to be a 79221 nxmw for 2%

i) Why doesn’t *01° 1 need a 109 to be 2% 2nvn from this axmw

aRb

i) Moo means "&Ip T7°7x X" in the sense that
(1) o "1 needs no oo to prove that 2517 is 7%°21 5922 and has 7%°21 N
(2) Because he already knows these o°1>7 without the P09 of 5%

ToRW

i) Then why doesn’t *0v " apply %3% to be 2nvn the 2%n of the 77021

mawn

53



e)

f)

i) simply because *2°%a:1 01 prefers to use 937 to be nxa7 2°nn rather than to be
TRAI 0N

ii) and
(1) since he doesn’t use 95 to be 2nwn the axnw
(2) the axmw in fact remains

ToRY

i) Then what does n»on mean when it says for *o1° " that >7°n 170? 727X
"R TRN 79021

mawn
i) moon means that
(1) a mo» would be needed to be 2w the 250
(2) and since there is no such oo the axmw remains

4) mooin on the v w of X2°py " as explained by X"wAin

a)

b)

X2°py "1 says that
i) 257 is A%°21 %902 but is v because x2°py " applies "2" for 7170 IR
i) and
(1) "Xp X RD NI MoK
(2) because 2711 is mana 9952 and was X372 0T when 79°21 was 7RIm0
ToRY

i)  Why does *>°%x71 01 "1 disagree with X2°py ' and say that the nxi7 oo for
251 wasn’t 917 when 7%°21 was i

mawn
i) 997401 " holds that
(1) when the 770 was nX172 72°21 w2 NN

(2) It was »nn only those parts of a 72 that are 7%°9%2 9nn in a nnna that’s
W

(3) And that’s why 9257 is needed to teach that 2% is X372 200
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n'7'21n "7 719'N1 'na

a3 29% 2v057A BN SNERT PP 10 22T NART "0 DD vam R Poom na
TOMRORTA 1T PARR FINIT MMOONRT 2"V ORY RDT MIDRRRR PIDRD PPRRY 1N
2T IMRP DROWS D27 7RIS D07 RPWINT 7O R KD 2DTIRPY 25NN

See X"wnn at the end of oo7°¥p 7"7 and at the end of “prio "7
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5"y "3 TNIRY 290072 71T PYRWKR RO772 AT 2''N2Y " 3 20027 1''72 'on
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DT
NIn XU'n 2" TN

IND2 RITOW FIRIT MOORY W27 RIP OPIN ROT N0 KT RWPOT 72 [R Ty 70 07
NRDPP2 IR NVOR KPR JPTY T KD 702 20007 OOWN WRAAT WD R0 00y "o
BaR RAUVA DD FIRIT NVIRY IRDD I TN RN HORY KD TIVIN 9P RHva
2D MARTD A PIDRD DI RDT KW KRRV IRLT MONRD IRD YT RIWT
»'"™Y IRIT MVIRD IND TN PNDIR POD Py IR N2 RNR PORY KD "'y nawy
IND TN PNOONR DD RAPIND W7 INNT RIPAY TR IRVAT R Y 10
9277 IND2 N7 R NI WM INIT NDORD INDD 7DWD ONRT RPN N7 ONMOND
RPIRT MIPRDY K2R "2 WTIPAw B2 2n W 90 YRS R R''INT N7 8027 wp

5P DRI TIDRY 90 RITOIT KPR NN 7TOK NOINRD IRDY 1012 7000

1) "
a) nvw of 1 "
i) "R WIP 2 9IR° KD WK N7 DR noawn”
i) 9980 XD 2n>mH D onb
iii) WR2 M7 DR NOIWY 220D RAT ORI 727K 1DV 1IV KR OX
IV) 77N PMOKR 90D 1Ay i
b) xwpto "
i) RDORT X7 007 HIRY KD XM
(1) w7pa 709 NP2 O Iwyn K7 10D MYOR 227735 MY 22 RN
2) "R
a) now of »ax
i) "R7Wn W2 DIRN KRY ... 32T K2 WK [A1X01] DR 90" 20N
il) o8N X7 87
(1) 19°5K% “917 Iy 1K O
(@) wpa 70 M 1971 TWN WRA 2°N5 1T
(b) w72 2109 NPIR HY AWYN KD RDORT 11T 720 MYOR 70
(2) 7R3 MOR? P TN
iii) A7wn WX 2905 777 IRIT MOORY? PV IR OX)
IV) 21 77Naw PR 937 Py van
3) xoo 2"
a) Xwpto »ax

i) The 92> X% for nxon nxvn is needed o1 to teach mpHn1 RS for 77°ox of
NN DRV
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i) Because the R of 9109 w7paw 95 is a M?722w WY and can’t teach mphn
iii) The o°v1o of "m922w IRY" aren’t relevant here
4) nvw of xo5 21
i) "R wRA HORY R XHW 902 Y WK Wwam" 2°nd
i) 998 RY R
(1) "2 wyan wpeaa DY Kpo1T 777387 DI IV K DX
(2) "nw> wRA" 2205 °77 ORI PIV IR DX
(3) 21 AMINAw PR 937 Py N
5) mooin
a) Nwp
i) The pwso of ywa 158 9010 &Y lists oowp as well as wyn

ii) so that 910x% 510 &% applies directly to o>w7p that were wnwi as well as to
Twyn

iii) Why does &95 21 need to rely on a wp17 to 7wyn to teach an 177208 Mok for
WNLIY WP

b) y1nas explained by R"wann

855 295 P10
W ROORT2 WP KT
727387 D1Y NPT IN? 727387 "DIY MPYMY IN? D198 9N R
IR? 772 DY RIT NOR IR? 772 DY RIT NOR 27w WR2
mpom mpom
IR OX2) DY ANIT MON wpon
mMpom1 IR (P
aR) 7NNT 937 IRIT NOR R OR2) DY ARIT MOR DR RY ... YN WK WA
mponY IRD2 (PIv X mpom IRDa (P

i) In fact x99 21 does rely on "1o8» 9310 R?"
i) But 91387 9510 X can teach mpHn? > only for 7970x
iii) And "aw° wxa"
(1) Although it teaches nx17 MO°K
(2) Isn’t in the form of a &% for which there can be mpHn
iv) That’s why
(1) were it not for the wpn
(@) we would need to apply the extra 2ox> 8 to teach “o1>
(i) by way of x37% 1°1v 1730 792985 Py IR O
(i) that there is mp5n for nxan from wnviw wip w2
(2) so that %ox° &% wouldn’t be available for 7mnaw P0°KR 93
V) but
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(1) once x99 21 can rely on the a wp>i1 from wyn

(2) The wp>n by way of 1°1v 1k o is a source for mpom1 x5 for the R NOR
of RnvIw DwIp W2

(3) so that Py 1x oxa he can apply o8> X2 not 917 but 77n2w 0K 937
6) R"wann —two nrwp
a) PN
i) Note that
(1) At the stage of the & ma

(a) After the x7mx asked for jn11> 1 that the 9ax° X7 of 7011 is needed to
teach the 17 of 1y%x " that there’s a nwyn RS for 79°ox of wipaw 9
2109

(b) And before x99 21 was 7°19n the vw of »»ax by saying that the X?
awyn of 71¥9X ' can’t result in NP9 because it’s a MW IR

(2) The &7nx assumed that there is in fact mp a1 W for 79208 of 7100 wipaw %5
b) First xwp
i) moown should have asked for »»ax that
(1) "7o%> RY ... nXvn 92" can’t teach 1RIT MO°K for 1MNT 9

(2) Because the 7% of 71vox "1 teaches nmipon1 W only for 79°ox for wipaw 93
2109

(3) So »ax should have applied 2% 87 to 1837 M0°R of 2105 WIpaw 22 by way
of v xR ox

PARY XOWP
92 O ARIT IR MOX A7wn wRa
mpom IR
7729982 POI? MpIn IR MYIR T TR
R OX2) "DIY MPIM XD DR K9 .. VX WX WA
RIT7 (P

c) Second xwp
i) the same x°wp applies to ynav> " for his 71m°% based on “nu

ii) the 9ox> X% of °n1 is needed to teach "% by way of 11y 1k oX that there’s a
mpom RS for AR MoK

NI M9 ROWp
92 5O ARIT 79K MOX WR2 N7 DR N
nIPoM IRD
797982 D17 NP KD TYOR M7 TR
AR OR2) "DIY MPYNT IR DR XY
R (W

d) aoxw
i) Can we also say that m»oin should have asked this greater x*wp to jn11° "
(1) when the & na first mentions the 712°% of 1 '
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(@) it hasn’t yet realized that the %o%> X% of 71 used by na1° "

(b) is needed by 1y%x ' to teach that there is a W% and mpon for n®vsx
WTpa 709

(2) It follows that at this stage we don’t know that there is Mp?21 18 even for
m9ooR of D100 wipaw

(3) So that 011> "1 needs to apply the 2ax> &% of 7na to teach mipHn1 RS for the
79928 MoK of 1N

NI 97 N ROWwp
592 SOMY ARIM 727K MO°R WX NI IR DO
mpom WY
779382 POMY Mpon IR DR K
e) Tawn
i) No

i) Because we can accept that moon prefers to ask nvwip that apply for the nnax
that “1y%% ' does say 2100 w7paw 9o
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Iwwa 7DXY DI X7 2T A" Tn

" AR 21N KD 792 NI TIAT WY 2v00 K97 "D 92N KD 29007 1''7a
2aY910% H''577 KUK 29ND70 2D B2 anon® BT 2TvN2TR IR TIRDD 2oy "1
MR IV N7 O RAAN PRI 3T R P22 DaR 290IRD P20 KD anonb 2w
RIA70 21057 A 21712 TR 57 010 NDORY 230D 7572 RIT RN R KON ARPT
WYY 7Y TR Do NIRD TR T KUK D' RIATT 172 NS 7R a9DIRYD DoIn R

9=y oIy YD

1) X
a) DMHH0aw WL Y PP PR
b) o929
i) The XY in the poo

(1) P27 970 WK TTI 9I1 IR TP N2 TIAT WY TAWWA P1OK? 700 KD
77 nam

(2) Don’t count as NM77222W N7
2) nmooIn

a) This is because the p105 doesn’t add the ending words 02287 9210 &5 to refer to the
XD as a group

3) X"wann
a) The x»3 has a different explanation in n>» noon:

i) The prior P05 says: 03°771)...02°MWYN DRI 012N 02°NHY AW ORI
02°N12N

i) Now
(1) If the 77 wanted to set up a m>%22w W»
(2) it would have been enough

(@) for the poo of 9510 RS to refer to the prior p1oo with words like 9210 X7
e

(b) without listing the individual x> again
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T 7

I"Nn'Ra X N7 2"

AN PRW 921 PR anT YN 1D PUIIRIRT AR M2 a2 [2 7wy 7 7|
TR 527 1999 5IATY 2OTYD N PRY '0INT 2T prn B B oy o e
"DINFW RDNR RTIDR2 AW 1T KD A1 RN 1R DO 2w RNONR DT 1NN W
A1 AMPY WY RYT 2RI 272 21007 2OWTRT 92 RITT PN A1 1O9Y RDIMANAT PN
2OWIPT 95 952 1MIT WIDHR '0INTT NINDN D2 2INDW 29MRD N PRR DO
2"V IRMIV 2R JOHY PRV PR 2IMTVD N1 PPRT NITIRD INART D27 2N
90 'Y 1200 RIARY PPANTVY N1 PRT 2INRORD IR KD RITT 0K 90 D02 IND
290D 57197 R PV N1 PIRT NITIAT RUTTR ORTIT ORP RNOR 7TIOK 11D TVNONRT
ROR 2991771% 001 1RY 23 DY AR VTR 2OWIPT 90 D227 IRMILD PR POIN

B2 B2 N7 MMM RO TTIIVIOR ORI 12 DI NPV DN R KPT R''707
TP IR 2WTRT

1) X3 in mnan noon
a) nRML DWn O7HY 02270 2*IAYY 727382 N0 Wa
b) xmIw DWR YHY PII PR QT NPT 0197 RNVIW PAD 2°NAY? 72°IK2 N0 KW W
2) X7ma here
a) Inthe poo
1) w2 PR MY 92 WA ... DORY KD XAV 92 YA WK Wwam

i) The second "wam teaches that an v 07X is 72w on a WY if he eats o™X
IRNLIY

3) X3 in a2°vn noon
a) "2 "wx" teaches that
i) There is a nxmw 210 for "oowpn 92"
i) And it doesn’t matter whether °nn 12 @ or PR 12 PR
b) the meaning of 1°nn isn’t relevant here
4) moon in our X0 before a nnx by "wain
a) Nwp
i) The xn3x says in 77°v» noon that
(2) from "a9p> wK" we derive
(@) Not only that there is a xnw 2vn for owTpn 9o
(b) But also that there is a nxmw 211 for "> 1v? NP1 PRY 991 2R

i) So why does the & n3 here need a »12>1 from "awam" to teach there isa 21n
xn for o

b) yy°n by nwnw 129
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i) From the X3 in 79vn
(1) we derive only that there’s a &m0 21 for o1k that are 7137 NkMIVA 981
(2) namely where an xnv @ eats oK that are 1w

ii) w27 921 is needed to teach that there’s also a nxmw 210 for an v Wk who
eats LI 2R

iii) Because otherwise we might have said that the mo°x of &= can’t be %n on
>R that are already 7%°oX2 Mok because they’re 29

5) H"wann
a) Xwp

i) In3%°vn noon the precise words of the xvaa are 12 PR 192 1P 17 wow 172"
n
abalal

i) why does m»ooin quote the X3 as saying
(1) ">Man? na PRY 12 2R N "
b) y1n
i) Be man the words in maoin here to read: "o nv? 001 PRY 931 2" °R5"
6) X"wann
a) Xwpon>"wan

i) The i doesn’t explain why msoin quotes the &ma in 79°vn as referring to
"ornR"

ii) even though the word "o X" also doesn’t appear in 712°v n3on
b) nvw of X"wann in Moo

i) mooin doesn’t intend to quote from the Xnx in 77°v» so there’s no need to be
man the words of mpoin at all

ii) Instead mooin asks this x>wp
(1) xwp
(a) Why does the x7nx here need a »12°1 for the nxmw 211 of WnvIw DMK
(b) When
(i) the X3 in a%°vn says "27p> qwR" is 72w all owp for axmw 210
(ii) and
1. it’s also nanon that

a. the xm in mmn that says there’s no nxmw 211 for PRY
DOMAL? N7

b. doesn’t refer to o> X that can never be o°17v% 01 even
if they didn’t become Xnv
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2. so that from the X373 in nnan it also follows that there’s a 211
R0 for WnuIw ooInR

iii) and nwnw 11727 answers that

(1) There’s no ®wp from the Xnx in 72°v» or from the X=%3 in nman on 227
29797U° N PRY

(2) Because

(@) although from the x723 in 3%°yn and the =23 in nman it’s clear that
there’s a nx»W 21°0 for 2R that are 7137 NXMIV2 981 where an W
Xnv eats oAk that are 1w

(b) "wa71 921 is needed to teach that there’s also a xmw 21°1 for an v WK
Who eats Wnuaw 22K

(c) Since otherwise we might have said that the mo>x of nxmwv can’t be on
on o™k that are already 77°5%2 710K because they’re 291
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RX1ON ORT2 DO "D AT PRI PO P9I AT IR "D RN YR nanR a''ra
23 5 R 2OWTPR P9I KDY PPRIMR PRI PIT T 1R IRD ORT DD KT ORI KRN

19" EY RIT RO

1) xn»n

2)

a)

2712 w31 is 72°0K82 Mok based on a mw 77013 of wp-wp from 73970 in the o109
i) AR 297273 9ORN KXY ... ANR WITR OV %
il) Y98N K7 79°70 77w WY O PN WIR CWIRY

b) 2%n2 9wa is aRIn2 MoK based on a amm Hp from AW
moaoIn
a) TP
1) 719"V IS ARIT2 NN
b) First xwp
i) Once we have a wpn (here meaning a mw 77°1) from 7970 to 2%m w2 to
teach 77758 10K
i) Why don’t we derive 18371 20> for 25m w2 from the same mw 771
iii) In other words why does the & nax prefer a amm 2p that teaches ka7 ok from
777w to a mw 71 that would teach nxi a0 from 79070
C) y™n
i) The oo on 179°7v also teaches that jnxonnn IRXW WP are X172 10X
(1) We rely on the amm %p to decide that the mw 79013 to 25m w2
(@) Is from jnxommn wxw ow7p that is ax172 NOK
(b) rather than from 15>v that’s 1X172 9nn
d) Second xwp
i) Even without the = m p we’d have followed a rule that Rvn® j1wpn
i) The y1n to this X>wp isn’t relevant for this R"w2nn
e) Third xwp
i) mais nx172 1ox as well as 72°oxa
i) A po» for ana also uses the word w7p that’s available for a mw 771
iii) Why don’t we derive both 792k M0k and nx17 Mo°K for 25m2 w2 by mw 791
of wip-wip from ann
f) vin

i) The x7nx prefers to use the mw 791 of wip-wp to be 25m w2 wopn to now
(2) First
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(a) because the word w1p in both cases refers to the &72x and not to the
w2

(2) and second
(@) because both 119>7v and 2512 "wa deal with 9m
3) R"wann
a) The yyn for the third xwp is also a y1°n to the second x*wp

i) Without the °mym %> we wouldn’t have been xmin% wopn

i) Because we’d have preferred to be 2912 2wa wopn to 79w

iii) Since
(1) The word w7p in both cases refers to the X123 and not to the w2
(2) and both n19>7v and 2%n2 wa deal with Pn
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D'TIN 'On 2" TN

PP PRT DWW RAW ab2 Wan 297 97 MARP K97 R 1D 297 D7 ' 72
BY P71 RITI2 RPN VARY K27 J10AMR MaARD RIT PRI w0 By "o
PIYDT WL W DA TSN 2000 RYT 210 N7 TI7D KPR 19BN 2Bma wa
TIDR THY PRI DR 7oA AR KUK DR P77 IR KD 22 w2 T9ER MR
DaR 1P RITI2 VAR MRPTD D2 VISR 2300 KDT 190 T9OK NNIT TN KOw
TR227 MARP DY FIRIT TITD RIW FINRITT 5P AR PRIT 272 INPO2 AR KRR Ko7

RTTY RPN 1R RUN DR KD FIRIT MOORT P77 R PITR PR 242

1) X
a) N

i) There is mpYn for a person who has 10X 71725 Xow nxa7 from a thing for
which the 79°o8 M0°K isn’t directly written

b) now
i) For o577 °%%3 there is no direct 7%°0x M0°K
ii) That’s why "INR37 7770 ROW 12°0K 171°%9 1P12w 07137 °K202 2°7n o0
2) XnUM2
a) Partl

i) 2%m2 w2 is 79°082 Mok by M 790ta from 79°7v - no 7o says directly that
25172 W2 S 727282 MR

b) Part?2
i) 2572 wa is AR MoX by wm Hp from a5y
c) Part3
i) Xwp
(1) 2912 "wa doesn’t have a certain X1 that’s discussed in the Xn>92
(2) say for that reason that we can’t derive X177 0°X for 25m2 w2
i) v
(1) w21 1277 9K
(a) that they too don’t have this X
(b) And they’re still X372 OR
3) R
a) Xwpto »ar
i) Why is it that the xn>92 isn’t 791 the "o from o157 °X%3 by asking:
(1) "3nRIT 7T ROW AX 1RV PRI2 1DW 0137 R7O7 "
(2) While for 25m2 w2
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(@) If in fact we derive that 25n2 qwa is X372 MOK
(b) the 7 would be that "inR37 7773 ROW 17759 1PR17 PR
b) »ax
i) v1nof "xna nxn"
(1) We’ve established that for 2%n2 7w2 there also is no direct 798 MOX
(2) So for 2%ma wa there would also be mpon for 117 7772 KW
4) mooin
a) Nwp
i) Then
(1) the same as »>ax says for 01377 °X?>
(2) why doesn’t »ax say for 25n2 w2 that
(3) "R AT ROW 1D 100V PRIPW 207 DI
b) yn
i) There is a 9% that "7 12 1o PR" where "1>7" means a M 9p
i) And
(1) since the ax7 Mo for 252 w2 is based on a M 9p

(2) it follows that there can be no mp%n for this x17 0°K even if the nxT is
INRIT 717

5) X"wann
a) Nwp

i) We’ve established that »»ax himself says "x»2 2»Kkn" meaning that for w2
2%na there is npon even for X177 ROW

b) v
i) Partl
(1) We've established that

(@) the 17%°5x MoK for 2%m2 wa is derived by mw 77°13 and not by mim 5p
or by a direct ,o»

(2) It follows that

(@) there is mpon for 790K because the 71 is from a 7w 77°13 and not
I

(b) And the mp%n applies even for 772Kk nX17 7775 X9Ww 77999K because the
777°9X T10°% isn’t derived from a direct P10

(3) And it’s to mp5n for 7%°o8 7R37 7770 ROW 7970k that »ax refers in his y1n
of X2 RN
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i) Part?2
(1) nmwoin deals with 10X 7772 XKW 1IR3
(2) We’ve seen that the 1R o°R for 2%m2 w2 is derived 1277 12 by v 9p

(3) And it’s for this X317 Mo°X that there can be no mpo» even for Jnxan 717
and for which »ax can’t say o>7n o1
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RN NP YR T RY 29IPR RIORD RDR AR 2T WD DYR W 7707 ORTY Dpoin
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DYDN 'X'7DY7 Aan A" T nivoIn

79519 TOD2 PRRT By 12 1719017 FINTY D22 0P "Nayw yrm "1 2007 3RPob a i1''7a
27297 K277 AR HUIaw 1150 FINTY D22 19HY N2 KPR PR DR TR XR PAYRwT
PADY 77792Y 923 92 FITAVIR MODA PN RPN NT29MmY 39 N9 RNAR 790 ToDa yRn

9'"Py Dy Rbw

1) First nnpn

a) »ax says there is mpon for a person who is 171 from 0757 °X%5 even 7775 ROW
TR

2) Second nTpn
a) For nooa ynn there is an Mok of 787° Hwa only if Y902 X7
3) Third anTpn
a) 1oda yan is R MoX even if Yova
4) ®n»a
a) 2712 W2 is X172 MR by mm op from 55y:
i) TRIT AMON 7772V 12 772V ROW 777V N
i) 21 77K 7792y 12 772V 2902 w2
b) xwp
i) 7702y 72 77291 K97 037 ARIT2 TNORWY 77790 o
i) 25 w23 RN WOR NP 12 A0 RY 1D
c) yrnas explained by the X"wann
i) nooa yan that was Sv1an is o and proves the X that
(1) There can be xR MoK
(2) Even though
(@) won nyw 12 i the same as 2912 w2
(b) And
(i) Tt’s 2°p even relative to 2572 w2
(i) If the ynn is 0121 so that 702y 12 721 &S of AR Hva
5) Twnn of the X
a) "JNRIT VT ROW AR 10V P12 0107 OR9O"
b) "nRIT 7770 KOW 300V P2 PR 25ma wa"
6) mooin
a) Xwp
i) Since for both 252 7wa and 01577 x>
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(1) 72y 372 72v1 and there’s an 779K MO
ii) derive by wun 72 from o°8%5 to 25m2 w2 that
(1) for 25m2 w2 too JNRIT TITD ROW AR 19V 1PRI7
b) y1nas explained by R"wann
i) AR 92 5w 7772y 1HY 129 1902 KO pam Spoin "
ii) are m°>m and prove the &7°n> that
(1) Although 77°2y 172 7av1 and they’re 77°282 10K
(2) still there’s no mpon» for a7 that’s 1RIT 7772 KW
7) R"wann
a) Note that
1) To prove from ynr the x7mm that

(1) there can be an nx17 Mo°x for 2%n2 w2 even though 252 "wa had a nyw
nl7akh!

(2) the xn»92 needs to rely on ynn that’s X372 MoK
(@) even though it had a 7w nyw the same as 2712 “wa
(b) and even though where 1202 it has the further 7 that 7722y 12 7291 X5
ii) But
(1) to prove from ynn the X7 that

(@) there’s no 1x¥n nna from 0757 °X%5 based on 7%°ox Mok and 12 7av)
7y

(b) that would teach for 292 qwa that "JnR37 7775 R2W 190K 17799 1PR17"
(2) mooIN USes 17w ROW yan that’s 792282 MoK and 77°2y 12 7am
(3) to show that

(a) despite these mmn for yian and their similarity to the mamin of °x%>
sty

(b) there’s still no mpon for AnRIT 7775 ROW 7RI
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WY RS2 DWNTA 2N 10 WD YW TP NI PIRYT 1D 290 IRDS NRIN NNT A
"D Aw® B "D WD PR W TR MO 20D ORDD TN MR KD INRRR mwpnb
NO7772 QW IIAT AT B PUDT ROV AW IOV RY DN 21D 'Y IR B0y
DR PTAW T TRITD AT ITT 9D RO IO RIT 77 KD OKR WIBK NINR RINT
2''21 3777 B2 39295 K RII7 777 K97 1190 RI7 XNDAR RTAT ROWT 9AR YRop 9170
AR ODITT RIVT 7T KD IDIDR 1T 9D RO 907D SNANR RTNAT RITI2 AW 'O

:?''NT7Y ROM0T IR ans
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|"oNa D'y n" TN

27IPY QINYD NPT ATIP 1T 2OXY JNIND S99 anT "0 PIONRI POy 7772 'O
QONRM HI0IT2T 2OXYD 51D P2 PN PR 2ORYSD RNW B''oY "5 2ONRM noNTR
TORT VOW SNMT ORTY NOYOAWN T9OYAY W WA HPONT KDY SO TN
2N5 911 2IRYOY PMOK NITVBY D 9D MMM DIXVT AP T MY 9%anT
"5 "9 NYNIATTY 2IXYIT KDY ' P07 S1DT RNYOMAT RTIINT 25027 NPt '52Y aw 'oIn

1) mnpa
a) mwn in M2 o~
i) WA INWR 2031 HY MIRYIT ROXINT
(1) 2oR DaRW 727 ROXIT ROXITW 72 RYD°P DIRY 7277 KON
(2) 21071 R°XI7 D YA HIR KDY XX
b) X3n3 in Mo noon
1) DIKR DIRW 7327 PT 02X 797K 72WNT MY 027202 RT2W 3700 20 7
i) P17 077 ORI YW 777V 9IR AT 27 KT DHve? a7 20
2) mooin as explained by x"wann
a) noRw
i) How does the & nx derive that 7770 21 on npin deals with mmnar 92an Hax
b) nawn
i) Only 207 n%°x counts for aprm w
i) now
(1) For 77w
(@) nm°o are Mox from ny> a1 nYw and NNT 9972 are never oK
(b) So it’s a mw>w»s that 777> 27 on aptn 21w can deal only with Mt >%°an
(2) For o>x>
(a) Although

(i) both o>Xx%> mvo and pwp ("pwp" are the same as mvar °7°an) are
TR only if onkn 192017

(ii) so that in theory 77° 29 on fprh 2w can deal with both m=°5 and
WP where o°nR» 19°0177 X

(b) Still

(i) It’s xn% 7 ’K that Mo are o°nkn 7°01 before pwp are 7°0m
apahival

(i) So it’s more 7anon that 7770 21 deals only with pwp
3) Twni of Mmooy and R"wAin
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a) 1oRw

i) How in fact do we know for o°x>> that ywp and o°x%3 *xy are oKX if 19017
o’ NN

b) nawn
1) A RXD™M2says at ;1277 that
(1) yny wIn 0797 292 5w PR IR 777V °9Hpa 1P0aw 1IN
C) oRw
i) How do we know that pwp and 77y >8v aren’t 10X
d) nawn

i) Because the xn>92 at :15 77 refers only to ms >9°5p for AW
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NI'WUN 'Yyn yin 2" Tn
B12Y ORT B'' By 10 T2 KON 2ORY INWR KDY 1Y PRW 1D XY P T2
1H''PY 392 P IRT DRNAANT RIAIT IDVRY INR RPT W 7797 2ORY IR 23 RS0
1) xama
a) TWK XY PROIND PR
2) m»oin as explained by &"wnnn according to 1"
a) The mo°x applies only where we’re wwii that "'y 202 >yvon? "nX
1) Namely
(1) where the 79111 is told that
(@) only the specific yv that is an 771 7712y will avail
(b) or that the yv will avail only with a nwn>
b) Similarly
i) nwyann "y Mo % AN without a nwen®
ii) Because there’s no wwn that 1"y 202 >yuon? nX
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. 7T

‘D AYWON X7 n" TN

"D MR T AT WD 1P MWT A0 KDY "D wBR KD 7'72 [2 Ty o 7|
R K92 339D 99 9" MORT D' P PIoR KDY WER2 A W AT M B oy
TWER KRBT DaAR WONT RDIT KUK "' MRP XD 2''Y AR AR V"0 X2 PdR KN

A RL

BT T D oY 10 R KD ' M0RT 2127 79N 1D ROM0 RUTIT 0RY 7''NRA
STORTY 1T WP POV RN RIWIDT 2 KUK RIT R ROTT RAP NI RIN0 RII7T
5'"mY 'DINT WA 9572 aNINR RDT NANT DY AR 07 N20 XN

1) X

a) 112 HY2 0IRY 17 IRAT NI

i) DM NR AR

i) 770K R X2

2) wnn of the X3 — xip X1w°H according to °"wn

3) mooin

' KRR NI

IO RYY WOR KD

0% KDY BN

phlraihile b
MR YA "

TR AT 0
M YA Mo

AR

il Rraihilab
amn P "

MOR AT D
TI0KR WRY 17

X217

a) Nwp to"wn

i) It’s not 12non that for Xa1 there’s no np1omn at all between 777> " and pynw "

b) y1n

i) Must be that the mv>w in this second table are correct

nmeoIND Rup Rawvd

0% KDY WER KD

TIo% KDY WOR

MIR) R I3 NYRw M7 ROK

aR) RNHY 2910 37N T ROR

X227 7112

"7 R2HRY MWT 0370 KD (X2 | RIX P99 93 OKRT 19D XY (XM Mmook
TI0RT 39D R? XY 910 A7 nynw "7
107
TR 7 1R MR 7 10 5"o »ax
AN PYRY " A PR M
OR 7 1R TOR 7 7 5"o X2

N PYRY "2

TIOR8 YRY 17

c) Note for the nvw of m»oIn

i) there is a npyona between a7 ' and pwnaw '

(1) for ™2 ®9Y woR &7 both for »»ax and &2

(2) for 11 R’ qwak for »ak

ii) There is a npYona between »ax and X217 only for wnw ' in 11571 R?Y WoOR
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4) X"wan

a) mooin could have proposed the v w in this table in answer to its x°wp to >"wA

R Rap Nwh
0% KDY WER KD IR K9 WON
2K) KDY 2910 1WA M7 ROR 52R) KRRV 9910 3TN T ROR | RWAAT 7D
RHR 2099 93 MW7 o090 R? (RN | RHR 399 %3 OKT 00D KD XA R"wnn?
a7 "7 NYAYw "7
1T
AN T Mo ORI R 5"p MR
AN PR "2 AN PR "2
MOR 77 Y MOX AT D 5"o X1
AN PR "2 TOR WY 17

b) Note that
i)  While for the nuvw of mpoin

(1) »ax says that 7770 ' and Pynw ' disagree both on 115n 891 qwar and on
7107 KDY IWOR R

(2) and x2n says that 777> " and nwaw " disagree only on or 1121 X9 TwoR R
i) For the nvw of X"wann
(1) »ax says that 777> " and nwnw " disagree only on 1151 X7 woR
(2) xan says that 77 ' and pwnaw ' disagree only on 17127 891 TWoR X7
5) qwna of X"wan

a) The following table compares the 1> of the & nx as summarized in the tables for
moaon and X"

IR KDY WOR KD TIo% K9 WOR
MIR) RO I3 NYRw M7 ROK MIR) XAV 2D AT T KON RIMAT 72
"7 R2ORY MWT 2390 KD (X2 | R2OR 309D 53 MORT 3090 XY (XA moaoIne
TIORT 79D K? XY 20 7T Y "7
AR) KDY 9910 WAL T RIR 2R) KDY 2910 3707 T ROR RI237 70
ROK *399 93 W7 o099 R (R2M | RHDX 19D 93 NOKRT 19D R? (RN 7hia)
AT NYAY "7

b) Note that
i) for mooin

(1) The a3 of the & for 11on &1 “wox is totally different from the 7> of
the X for 17107 K91 woR &Y

i) While for &"wann
(1) The a2 of the &ma for 1101 K71 woR
(@) reverses the names of 77 "1 and Pynw " in the 7315 for P1on X9 wox
(b) but is otherwise the same as the a3 for 1151 R woR
6) Twni of the Xm) — RT ROKR
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R WK KD
1on

TWOR KD
T1onPY

R9Y WwOR
PR

TIoNPY MWK

phlFraihiliabi
amn YA "o

AN A
MOR NYAY M9

MR AT D
AN YA "

MOR AT D
MOR NVAY "M

”DN

phlFraihiliabi
N YR Y

MR AT D
TI0K VAW "7

MR AT D
M PYRw "M%

MOR AT D
10K NYRY "7

X217

7) Twnn of mooin

a) A X210 in m21n2 noon says that 777> " holds that 12197 X1 9woR X7 is 10K

b) The x*»0 must follow a X71°» by "»7° " in n2w naon

8) X"wann
a) Nwp

i) We’ve established for mooin that in X»p x1w°5 both »>ax and &2 agree for "

7717 that 1127 891 qwoR X7 is oK

i) Why does mooin need to say that the X3 in n121n3 follows only »7° '

b) v n

i) The nvw of * R XK is Py

ii) and we’ve seen that * X7 X2°X say for 77> "1 that P1on X9 wor R is 0

both for »ax and xan
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DT
25" X 2" TN
139597 ;79opRT 99 10 779IOK 200 K X7 0K 1D 9097 INw 71172 [N My w a7
RPW DR TN IR 2°9N2 KDT X7 MARD B''D K277 270027 20 POy "D Xun
790132 TTOOR 2902 YORD BT MIINK RUMT RUM JDRIT YRR 2Ry IR 7D
RO 790779 5790132 779K 2900 IR BT m790a1 W' 3190997 1 25na wan m
YO PRI DWW 272 ORYDY 1R TINDIT DOYD 109D OB WPNT WP NI TIT
77D ROR 190 PPI® PRT 2972 a2 2''RwR 99K 792 2900 RYT ININT IO K9
TART MARD ROR 90D 3977 D RDT 22999 29 7790132 779K 290D IR BT NN
27259 RO RO777 X279 DaR N7 77D KOW POY PRPw 298 9RYS2 237 Do
RDIRT WEN 77299 1792 2902 K7 23 HY R FIRIT 7770 RPW 9P IR 741 292 R9227
T2'17Y I9IDR 91 192 29N 19ORD A WA 2w 2

1) xwat:7097
a) "N

i) There is mpYn for 1nxa7 7772 Xow axan for a thing for which a p0o doesn’t
directly set out an 7758 M0°KR

i) Now
(1) There’s no direct 7%°ox Mok for 0107 *X9>
(2) so there is mp i for 1nR17 7772 XPWw AR17 from 0737 °X%D
2) xnrmaat:oaT
a) 2%m2 9w
i) is 77082 MoR by mw 7901 and not by direct 79°98 MoK
ii) and is X172 MOx by M op from 75y
b) To resolve a x37°5 to the = m %p the xn>a relies on a & from 0757 °X%5
c) The precise x37°2 and the precise "X aren’t relevant here
3) Twnn of the X
a) Nowp to »ax
i) Why is it that the Xn>>12 isn’t 7791 the X1 by asking
i) "PRIT 770 ROW AR 10DV 1PRI7 190 ARITA PIORT 0757 2RDIY an"
b) y1vnof »ax
i) "XnaanRn"
(1) For 2%m2 7wa there’s no X>772 79°28 M0°K the same as for 01377 7892
(2) So for 2%ma 7wa too the 17 would be that "1nR37 7175 RO AR 17109 117"
4) x na here

80



a) Xan
i) there is no 79°vn for \nX17 7770 ROW ORI
5) mooin
a) Nwp

i) We’ve established for »»ax that for 01577 °x9> there’s mphn for 7775 ROW 83N
1NX177 because there’s no direct 719°o8 Mo°x for 1377 °RkH>

i) For n%vn there is also no direct 7%°ox% 710°KR so there should be a 7%°vn 2117 also
for 10837 7770 RHW X7

b) v n
i) For mn there is a direct 79°5% MoK

i) And by way of a xvr-&vn mw 17°12 we consider as if there was also a direct
20K MoK for 7 vn

6) X"wann
a) Nwp
1) Now that we’ve established that

(1) %27 agrees with »»ax that where there’s a direct 79°0x Mox there’s mphn for
7R only if the aR3T is 1R 707

(2) And that &21 also holds that because of a mw 17°13 we consider as if there
is a direct 720K Mox for mvn

i) We have this xwp
(1) For 2%nm2 7wa there is a mw 77°13 to 19°7w where there’s a direct 79228 0K

(2) because of this mw 77°13 we need to consider that this also counts the same
as if there were a direct 79°0% M0°K for 25m2 w2

(3) So
(@) for 2%ma awa there should not be mpon for 1R 77172 KW IR
(b) And the y17°n of "&n2 9nKn" shouldn’t be available for &2
b) v

i) Xandisagrees with »ax and holds that there is some w7 or mw 77°1a that
imports a direct 7%°9% Mo°X t0 07577 X7

ii) it follows that
(1) there is no mp n for 09577 °X%5 for JNRIT 7770 ’OW AR
(2) And the x>wp of
(@) "RIT T ROW AR 3700V PRIPW 0197 2KR9I7 an"
(b) doesn’t apply to 27 in the first place
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DRIV NIXY? 2" T XIA 2a'7'yn 2" TN

IND ORT B'"'OP 1D 372 PR 119 IR DIPT 77100 297 MBRINIRY "D RNT TR 172
STMIN 21972 MN25 7RI N7 ROR N2 RPIT INDT WHDD MWDK 707 MARRT 0
5=y 'oIna '

TN RD 339K RITT N FONR 97 STIDR JARY 12900 KPR 12 237w IR 17" 72
MAPIND RDIN FT2IDR 21 12 IR INIAN IRYR IMRY 7977 PI0RT IRRPY 9oy "o Tee
AN THYR WIRD 7722 TOYW MR 1T "D awan® 799 9 N X9

J2'117Y RDIN RTITIR DaN 12 PR 9903 91 1IN0 YR MRPT 90T WwEN)

1) X
a) There is no 73%°yn for "nMoPa M1 AR PR 292 Hw MR
b) But there is an x7 MoK for those who are "yina o> 7my"
c) The meaning of "yin2 o>7mw" isn’t relevant here
2) mooin
a) first x°wp as explained by &"wann
i)  Why then does '}k Xn>92 in 71510 noon say that
(1) An nwx who was yIn2 Ty was "naRwn 01 Hw R o2vn naa”
(2) Even though "w1pn 5w 11 792 nom wn"
b) Possible y17°n
i) '& &n>na teaches only that there was enough light to be ot n 9712
i) But in fact women did not use the light to be a°v°r 92
c) Possible y17°n dismissed
i) n2wr relies on 'k Xn»72 to prove that "%°vn own 172 PR M AR 2R
i) So it must be that women did in fact use the light
d) Second xwp
i) "2 xn*92says that "nmopn no0 190 05w WAk 19°78 770 0% XY
i) So obviously there’s not even an mo°x to be r>n
e) y1nto the second xowp

i) The mo°x for i applies only to a person who’s 29pn himself to the 771y to be
A more

3) R

a) for o1 there is no 7%°wn after \nann avnw

b) the X3 doesn’t say whether there’s an 0°x for i°1 after \nqnn abvnw
4) X"wan
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a) Nwp

i) Instead of the yy°n for the second x°wp that the mo°x applies only to be 29p»
to be > more

i) Why doesn’t Moo answer that

(1) 1nnn aovnw Nk there is no Mo for mn at all the same as there’s no
m2vn for man

(2) And 2 xn» 2 0n "awana? 797K 793 anon RS applies only 3%ynw anK
NN

b) v n
i) m»ooin assumes that the Mo & continues after \nnn 77ynw
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NTEA - 'N PN pronv NN

WAPRD QNN YRR "M 013 Y1902

1)

2)

3)

4)

5)

6)

First 7a7pn
a) o°xy of 797y and 0107 °&k%5 and wpn count as an Pya MoK
b) o°%na or "ox of 797w and 09577 °X%5 don’t count as an Y2 MO
c) oom and "ox of wpn do count as an 1°ya MoK
Second 7P
a) "noaovxy maw v

i) Means that

(1) Where there’s an y¥ np1ax that’s noi7 7310 and is 79X the no

(2) We assume that the nai>w of the n»ax comes from the o°xy before they’re
79Ww1 into 19K

b) "noa ooxy maw PR"
i) Means that
(1) Even where there’s an yv np1ax that’s noi 731

(2) We assume that the nai%w that’s 9 the no comes from =ox into which
the o'y were 7w

Third nnTpi
a) oy that are the 1va m0°) of 01077 °RHY 79w
b) count as a Mmox o for noiT N»oXR
i) only where the o°xv are placed as an 12K that’s 7210 the no
i1) and only for the &7 18n that noa 2%y naw v
Fourth nn7pn
a) "ox and o°%m of 727w and o°xY> count neither as a AN 0733 NOr as a Mo°R oM
Fifth anTpn
a) We’ve established that 7o% of w7pn and w7pi1 *xy both count as Pya MoK
b) It follows that

i) both w7pi 9% and wipi °¥y are a Mo°R 0713 S0 long as no is 7an2 o1 before
the wpn *xv and w7pn "o8 were 7731 from the man

ii) It’s not relevant whether there is 17313 712K

c) this applies for all &7 187 including the anx7 1&n who says for o°x521 797w that
noa QXY 7AW PR

Sixth nnpn
a) A "win Min"is a Min that was a1 by an pya oK
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b) For this 73 there is no concept that required Mn: 7215 PR
c) It follows from the prior nwa7pn that
i) If the ¥ 7oK that was ma the Man is 017 *R901 79w %y
(1) The 7mn counts as Pya Mo°Ra w3 and as a "win n"
(2) only for the “nx7 8&n that noa ovxy maw w°
ii) If the pPya MoK that was =1 the 2N is wpn 7oK
(1) The 7mn counts as ya Mo°Ra M and as a "win n"
(2) Even for the anx7 &7 that noa o°xy naw P
7) Seventh mnpn

a) A "mn win itself counts as an yya ook and is a Mok o7 for no that’s 7oK1 in the
aIn

i) even without no:1 7210 PR
i) And even if the no is 79x1 in the 710 by a later poon with o w> o3y

b) But for 777y and o951 °x>3 this rule applies only for the anax7 18 that o3y maw w»
noa

8) Eighth mnTpi
a) no that was 17981 by a Mo°k o7 becomes ~ox only if
i) if it was nox1 by a 110°% 07
i) and either
(1) there was no an>1 o7
(2) or there was a an°77 27 and the 17 is that 29 71 737 is 10K
9) Ninth nn1pn
a) Jw° Min means a Min that was “na1 in a P with other than an Pya Moo
b) Jw° Min itself counts as a an°n o7
10) TP
a) If a w7 1an was a1 with an Pya oo

b) The 711n must be yn1 for a anx7 3&n who says that any ns that is fox1 in the mn
afterwards with o>2>w> o°xy would be mox
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wTnh A"Th — "2 77n 1j7'0onw 1IN

By "2 MRT KT W IR VT 2R D maw W o w7 [2 Ty 1 nT
Bar "2 2''HT WP 13207 19IDR RiT W 9299 ORT 0D D IR V'R H'R B and
2R 205 VP TART T Dawa pInTe 2R Y 'O "D PRI 2R R RO
13299 23 MWPN 7739Y 79N 923 ' PR 10920 Y 2IRY MawT RN T 90T RTINPNT
Y23 5792 IND T TRNYR WIDRT 190 2R WY 2097 NI T NP M0IN2
o1 9% 39 MR 332772 TSI PO TN RPT P PIYD 29RY 7aR IND PRI 0NT
2'"'D 'DIN2 7772 IOPY RIT RPN MVINR 772 NOAAIT 23 DY R 2OIY A IND NS0T 0T

1)

2)

3)

4)

5)

By Y 'onT
First 7a7pn
a) o°xy of 797y and 0107 °&k%5 and wpn count as an Pya MoK
b) o°%na or "o of 797w and 09577 °X%5 don’t count as an Y2 MO
c) o%mand "ox of wipn do count as an Pya MoK
Second 7P
a) "noaooxy maw "
i) Means that
(1) Where there’s an y¥ np1ax that’s N9 7310 and is 79X the no

(2) We assume that the nan>w of the i12% comes from the o°xy before they’re
79Ww1 into 19R

b) "noa ooxy maw PR"
i) Means that
(1) Even where there’s an y¥ np1aR that’s noi7 7310

(2) We assume that the na%w that’s 79 the no comes from =ox into which
the o'y were 7w

Third nnTpi
a) o°xy that are the Pva mo°x of 0757 "Rk 79w
b) count as a Mmo°x o for no;T N»oXR
i) only where the o°xv are placed as an 712K that’s 7210 the n»
if) and only for the &7 18n that noa 2%y naw v
Fourth nnTpn
a) "ox and o°%m of 727w and o°xY> count neither as a AN 0733 NOr as a Mo°R oA
Fifth nnTpn
a) We’ve established that 7ox of w7pn and w7pi *xy both count as Pva MoK
b) It follows that
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1) both w7pi 9% and wp *¥y are a Mo°R 2713 S0 long as no is 71n2 o1 before
the wpn >xv an wpn 198 were 711 from the a 7n

ii) It’s not relevant whether there is 17215 712K

c) this applies for all »wx7 1871 including the anx7 1871 who says for o°x%21 77w that
no2 XY Maw PR

6) Sixth mnTpi
a) nXP IS 13277 MoK on Naw
b) o°9mx and 19x of ¥ count 132777 as an Y2 MoK
7) Seventh mnpn
a) We’ll establish in 7k 1"7 that
1) Inthe x1rnx mi of the X310
(1) Both >21 and 1327 say noa o°xy naw w° for 0157 *R9Y 79w
i) In the x1pon of the &0
(1) »20 says noa ooxy maw v for 057 X7 77
(2) 1321 say noa o*xy naw px for 0757 X9 79
8) mooin
a) Xwp by 1K "M "2
i) How can a &7 18 say that "nawa 192981 2oK8° nawa Hwana”

i) When we’ve established that o> that are 131277 7P count 1127772 as MoK
7°va the same as 2°%nx and 19x of wIpn

iii) So that X%y *910 ought to agree that the o°%na are M0°K "1 including any 18»
Tnx7 who for 757y and x93 says that noa ooy maw PR

9) H"wann

a) Presumably 17nx ' asked his ®>wp to °27 meaning w177 11021 the mawnn Sva
because in the xipon of the x°»10

i) only w17pn a0 says noa ooxy naw we for 0nom "9 17w
ii) While 1127 say noa o°xy maw 1R for 017 X901 79y
b) xwp
i) The xwp should also apply to 1327 even in the Ripon
i) Because we’ve established that
(1) the »ax7 181 who say noa o°xy maw PR for 017 X901 797w

(2) do so only because they hold that the nai>w that is 79 the no comes from
19X and 2°%m that aren’t va MO°X

i) while
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(1) o°%na that are nawa nxpn themselves count as Pya MoK
(2) So even 1121 in the R3pon should agree that they’re a MoK o7
C) y™n
i) It’s correct that 77nx " asked his ®°wp to 1327 as well as to mawni Hva a1

i) And "»29%" in mao1n means — or should be 731 to mean — that 3778 ' asked
the x>wp to his >21 namely jp177 > the mvoINT Hva

10) R"wAnn
a) Here are two more o°x17°n to the xwp of 2"wn
b) Firsty1n
i) In fact the x>wp applies to 1327 as well as to *27
i) still
(1) onx " prefers to ask his ®x*wp only to w77 12°27 because it’s only 11°29

w177 who says noa ovey maw we for 777y and o°X%3 in the x3pon as well as
in the XK M

(2) And msoin understands that we would ourselves realize that the x>wp
applies also to 1121 even in the Xipon where 1127 hold that noa ooy maw X

c) Second y1n
i) The x*wp doesn’t apply to 7320
i) Here’s why
(1) Since for 1797y that’s an XN>IRT NOR

(@) 120 are pon in the xipon and say that noa o3y maw PR because they
assume that the 1°v2 mo°x has turned into o°%na at the time it gives rise
to nanow

(2) 1t’s manon that
(a) for nx¥pin that’s only an 131277 MO°KR

(b) 12321 are %pn further and say that nsa o°xy maw P& even though the oo
are ya MoK

88



AAN'R 2T - "2 P pzronw NN

=755 SpaT IRMY 12 2T 7Y 77T DDA 2IRY AW WIT 2R 1B TR NYRRT IR aa
SRY MW POTA WIMAR OR TIN2 1997 NOT DR 12 SIOR ORPT NI 2R 7 5772 0007
TRTI 19T MWRT PO TONR ORP Ox% 10 2%0ma 'Y SwaT RDODY PR PO JWON
TR IR 2T ST 7T Y'ORY ND2 2RY AW AWDT RNWT PI0NT IRRY ar v''whnn
AY RRA R KRR NP PIRT POYIR WIANR NON NDT NN 2 775N NP X® 2"'yY
N7 ORI AN DM MY A" PP RMDINT 2IRY ROVT 1R RIT 0w 7'"T7 200mA
PR R MDIND MR 23 DY OR WINPT MOIND WA WIN R 10D
TIDR2 MR DT WA WIBR PR POYIRY ITAID IPIARYS 9IBN 2''RT W2 0N
PY2 MOORT PRW N7 970 5P NI PY2 MONRTR IPIANT Y VN2 N7
N1 X177 X251 9DIN2 RN N7 12 IORT QIRY 7AW 1IONMDD PIAT INRD RN D'
DR ORP FTOYY MIN 2T K92 YPPT DY IPANT T N DR KPR MINR 900 NP

TR'NTY TR BN 2T SIRTI 1Y 10 2 A by hwa

1) First nnipn
a) ovxy of 7197y and 01277 °k22 and wIpn count as an Y2 MoK
b) o°%na or "o of 79w and 09577 °X%5 don’t count as an Y2 MO
2) Second TP
a) "noaooxy maw "
i) Means that
(1) Where there’s an y¥ np1ax that’s o7 7310 and is 79X the no

(2) We assume that the nai>w of the n»ax comes from the o°xy before they’re
79Ww1 into 19R

b) "noa ooxy maw PR"
i) Means that
(1) Even where there’s an y¥ np1aX that’s noi7 7310

(2) We assume that the na%w that’s 79 the no comes from =sx into which
the o'y were 7w

3) Third fn7pi
a) o°xy that are the Pva mo°x of 0757 *RXH1 9w
b) count as a Mok o for noiT n»oX
i) only where the o>y are placed as an 712X that’s 7215 the no
ii) and only for the &7 18n that noa 2%y naw v
4) Fourth mnpn
a) "ox and o°%m of 727w and o°xY> count neither as a AN 0733 NOr as a Mo°R oA
5) Fifth anpn
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a) A "wn Min" is a Min that was 7731 by an pya MoK
b) For this 773 there is no concept that required M0 7235 721K

c) It follows from the prior nva7pn that if the 1°va Mook that was 11 the Min is 3y
07971 °X9Y 79

1) The 71n counts as 1"¥2 Mo°X2 a1 and as a "wn Man"
ii) only for the K7 181 that no2 o3y maw w»
6) Sixth i

a) A "mn win itself counts as an ya Mook and is a Mok o7 for no that’s 7oK1 in the
an

i) even without no:1 710 PR
i) And even if the no is 79R1 in the 710 by a later pon with o w> o3y

b) But for 777y and o951 &3 this rule applies only for the anax7 18 that o3y maw w»
noa

7) Seventh 7P
a) no that was 17981 by a o>k o7 becomes ~ox only if
i) if it was oK1 by a 110°% 07
i) and either
(1) there was no an>1 o7
(2) or there was a 20> 27 and the 17 is that 29 171 77 is 10K
8) Eighth mnTpi
a) Jw° Min means a Min that was “na1 in a P with other than an Pya Moo
b) Jw° Mn itself counts as a an°n o7
9) nnpn
a) If a w7 1an was a1 with an pya Moo

b) The 711n must be yn1 for a anx7 38n who says that any ns that is foX1 in the mn
afterwards with o>2w> o°xy would be mox

10) 'k xn™M2
a) Partl
i) 0797 °R9D W PWPA IR 777V °9Hp2 IP0aw 1IN
i) ynrwmn
b) Part2
1) no7NR 275K
(1) »2n says the no is MoK
(2) 1321 say the no is nmin
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c)

Part 3
i) Xnby *93 agree that the no is anmn if o093 23 Sy Abwna

11) xrnx M7 of the X3 on the mx*2 of 'R Xn>»12 as explained by X"waan

a)
b)

d)

9)

h)

>27 and 1121 both agree that noa o°xy naw w» for 77y and 01277 °k92

they disagree only on whether mox o7 71 77 where there is a an°i o713 as well as
a Mo°R 07

1) °27says MOR M AN T
il) 3127 say W oM AN AT

Based on the mn7pi there are two possible o°193% where '& Xn»92 can say for na
that’s 79X1 in a M1n that

i) there is both a an° 0713 and a Mo X o

i) and »21 and 7127 can agree that noa o°xy naw v but disagree on whether it
oA IS MR

First 1918

1) The xn>"2in part 2 deals with a w71 90 (Mok 2713) that in its first po°i was
2731 with 799y ¥y

i) the =mn was later powr with 207 °xy (A0 o73) that was nd nR 7o
Second 9%

i) The xn>>12 deals with a 7w <n (An°n o) that was later pot with 777y >xy to
be no 79 with 17310 1R (0K 07)

It follows that
i) inboth oo1oK
i) there is a mo°x o3 and a a0 o
(1) that’s mox for *27 who says MoK 2 71 77
(2) and is amn for 13121 who say *w o an
TR

i) what 19 is involved in Part 3 of the xn>>12 that says that 2°%m >2x v nbw»a"
"M 9o 0727

mawn
i) Can’t be that part 3 of the &n>>12 deals with a w7 71n that
(1) in its first po>7 was “ma1 with 797y ¢y so that the 71n counts as a Mo°x o7
(2) And was now poit with 777y *%ra to be ">wan" the nd
i) Since
(1) we’ve established that 77y *nx count neither as a 0> 073 nor asa oM
MOR
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(2) while the w7 min itself continues to count as a Mok aMa for 21 and 7127
who in the XK M7 both say noa o3y maw w»

(3) So even 1121 who say »w o 1 77 ought to have said the no is Mox
because there is a :10°% o713 and no N7 oM

iii) Must be that the xn>92 in part 3 (2> °2x 5y 79w2) deals only with no that’s
7OX1 with 797w >9ma (that count as neither 71o°R 27 nor 7n°7 o73) ina Jw° M
(AN o)

(@) So there was no mo°x o7 altogether
(b) And that’s why the ns is anmn even for "2

12) x3pon of the X3 on the 7%°2 of 'k Xn»92 as explained by R"wann

a)

b)

"27 and 7127 agree that »*~w a7 am a7 and they disagree only on whether maw w»
noa vy

1) °27says noa ovxy naw we

il) 7127 say noa XY AW PR

It follows that part 2 of 'x &n>>72 must deal with an 19 where
i) there is no an°n o7 but there is a Mok 073

i) and that’s why in part 2 of the xn>72 (N7 PX 12 79K)

(1) the no is mox for *27 who says no2 oy naw w° even though he also holds
MW QM AN

(2) but the no is anwa for 11217 who say noa o°xy naw P

iii) These conditions apply in a w7 71N that was a1 in a po°1 with MoK *xv and
the no was 19R1 in the same po

Note that

i) since the no was noX1 in a w7 1N that itself counts as 1Pya MoK

il) the no is MoK even if there was no 1715 712X in the X

TR

i) Why can’t part 2 of the xn»92 (noi7 n& 12 119%) deal with an X in a w°> 71N
72wn

1) because we’ve established that a 1w 1n itself counts as a a7 o7

il) and at this stage we assume for both 27 and 7127 that *w a3 an

TnTRa to a Xowp by R"wann for the svw of the Xipon

i) Now that we’ve shown that it’s possible that the xn>92 deals in part 2 (12 o9&
no;1 nR) with a wn Mn

i) Then
(1) part 3 (o°%m »2x By 79we2) presumably also deals with a w1n 2in
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(2) Namely with where

(@) in its first poon the 7man was “na1 with 797y ¥y so that the 71N counts as
a Mo°R oM

(b) And the 7110 was now pot with 797 *5na to be ">wan" the no
g) Xwp
i) We’ve established that
(1) aw7n 70 counts as a Mo°R o7 for the “nRT X7 that noa vk maw w»
(2) And that 757w *nx don’t count as a 07 07

i) So why do xn2y *210 say that the no is amn in part 3 (2°%na °23 %y 7%°w3) even
for »27 who says noa o°xy naw v»

iii) Note that
(1) Since there’s No N7 071
(2) It’s not relevant that *27 says »w o3 7N 77
h) v n
1) Must be that

(1) part 2 of the xn>1a that deals with noi7 nX 12 758 where 1327 and *2
disagree on whether the n is 710K

(2) and part 3 of the xn»2 that deals with o°%rx *2x 5y 7%w°2 where >27 and
1127 agree that the no is nanm

ii) both
(1) are separate from part 1 of the &n>92 that deals with a 71 and says min
ynr
(2) and instead deal with "»sx and 9w~a without a 1mn altogether
iii) namely
(1) part 2 (non nX 12 79R) deals with where there was & with 17313 712K
without a "n

(@) so
(i) there’s a mo°x oa for °27 who says noa gy maw w»
(i) and there’s no 2n°i1 o7 because
1. there’s no "N
2. and o°>na count as neither an°7 @7 NOr MoX 0713
(2) part 3 deals with 12 by o°%nx without 17233 712K
(a) so there is no Mo R oM
13) qwnn of X"wnan
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b)

TIRY

i)  Why does &"wnnn throughout this X210 assume for the =x7 187 that maw w»
noa o°xy that w7 7an counts as an Pya MoK that’s a Mo°x o9

72wn
1) aw7n Minis either a Mo°X 073 Or a N 27
i) Now
(1) If it’s a 707 o2 the same as 7w "N
(2) there can never be a case where
(a) Even for the &7 18n that no2 o°xy naw w»
(b) nois MoX inany oK in a M
iii) Here’s why
(1) even where there is a m0°% 07 because there was 17310 7p1aR
(2) there’s still be the an°7 o7 of the 1man itself
(3) and the result would be o7 71y 77 that’s »2w even for °27 in the Xipon
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1) First nnipn
a) ovxy of 7197w and 01277 °k22 and wIpn count as an Y2 MoK
b) o°%na or 7o of 79w and 09577 °X%5 don’t count as an Y2 MO
2) Second TP
a) "noaooxy maw "
i) Means that
(1) Where there’s an yv np12X that’s noi7 7230 and is 19 the no

(2) We assume that the nai>w of the n1ax comes from the o°xy before they’re
77w into 798

b) "noaovxy maw PR"
i) Means that
(1) Even where there’s an y¥ np1ax that’s non 7310

(2) We assume that the nai>w that’s 19 the ns comes from 2R into which
the o>xy were w2

3) Third 7P
a) oy that are the 1va mo°) of 01577 °XH1 79w
b) count as a Mmo°x o for noi n»ox
i) only where the o°xy are placed as an fiax that’s 721> the n»
il) and only for the nx7 1x» that noa %y naw w»
4) Fourth mnpn
a) "ox and o°%m of 77w and &% count neither as a AN 079 NOr as a ME°R oA
5) Fifth anpn
a) A "wn Min" is a Min that was 7731 by an pya oK
b) For this 7773 there is no concept that required =Tn:7 7215 712K
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¢) It follows from the prior m»7pi that if the 1Pya Mook that was ami the 2nis o3y
079771 *X9Y 79

1) The 71n counts as 1"¥2 Mo°X2 a1 and as a "wn Nan"
ii) only for the K7 181 that no2 o3y maw w»
6) Sixth mnpn

a) A "nwin itself counts as an ya 7oKk and is a Mok o7 for no that’s 7oK1 in the
an

i) even without no:1 721 PR
i) And even if the no is 7oR1 in the 7N by a later po i with o w> ooy

b) But for 777y and o951 °x%2 this rule applies only for the anx7 181 that o3y maw w»
noa

7) Seventh 7P
a) no that was 7981 by a Mo°k o7 becomes ~ox only if
i) if it was oK1 by a 110°% 07
i) and either
(1) there was no an>1 o7
(2) or there was a an°77 27 and the 17 is that 29 71 77 IS 10K
8) Eighth mnTpi
a) W Min means a Min that was “ma1 in a poi with other than an Pya Moo
b) Jw° Mn itself counts as a an°n o7
9) nnpn
a) If a w7 1an was a1 with an pya Moo

b) The 711n must be yn1 for a anxT 38n who says that any ns that is fox1 in the mn
afterwards with o>2>w> o°xy would be mox

10) 'k xn™M2
a) Partl
i) 0797 °R9 W PWPA IR 777V 9P IP0aw 1IN
i) ynvwn
b) Part2
1) no7 NR 275K
(1) "2 says the no is MoK
(2) 1121 say the no is nmin
c) Part3
i) Xnby o913 agree that the no is ann if 2293 23 5y Abwea
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11) xR M of the X mx on the k2 of 'R ®n»92 as explained by R"wann

a) °27and 1121 both agree that noa oxy naw v for A7y and 01377 °k92

b) they disagree only on whether mox o7 11 11 where there is a 7n°n o713 besides a
MO 07

c)

i)

27 Says MOR DA AN ar

il) 3127 say W oM AN AT

In the prior m12>7 we established that this n12ma can apply to a w7n =n (27
T0°R) that was later poy7 with anon 2y (An°7 291) that were noi7 nX 98

12)'a xn>M2

a) ¥ W N

13) R

a) Nwp

d)

1) 'axnM2isanno to 'R Xnva that says ynr win M
b) y1n

1) 'RRP™M?2

(1) Follows >27 who says =R o an a1

(2) And for »27 the n» that’s 11981 in the w7 2N in a later pon with o w> oxy
will be Mox

(3) Because there will be
(@) a mo>x o (the wn 2n)
(b) and a an°i o7 (the anon oxw)
(4) and that’s why based on the nm»7pi the 17 is yny

i) 2802

(1) follows 217 1327 who say »~w o9 1n a1 and the na will be 2na in the
second po°r

(2) and that’s why based on the ninth 7757 the 7 is that no 7x¥n:7 is needed

Xwp

i)

We know of no case where 21 says T0KX 09 0 1

X1pon of the X mx on the 72 of 'k kn*92 as explained by X"wann

i)

»27 and 7127 agree that »vw o 71 71 and they disagree only on whether w»
noa Q%Y naw

(1) »2n says noa %y naw w°
(2) 1127 say noa oo¥y mAW PR

ii) It follows that part 2 of '& xn»=2 must deal with an 1918 where
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(1) there is no n° o7 but there is a Mok o7
(2) and that’s why in part 2 of the Xn>12 (n577 NX 12 779R)

(a) the no is mox for *27 who says no2 o°xy naw w° even though he also
holds >aw o o nr

(b) but the ns is anw» for 1127 who say noa o°gy maw PR
iii) Now
(1) Although we established in the prior m2°7 that the np1>mn in part 2 of the
XN172 on no7 nR 12 7oR deals with where there was no ~1n altogether

(2) Still it’s a mw ws that the part 1 of the &n*92 on yny 71n is separate from
part 2 and deals with a w7 110

e) Italso follows that
i) 27 would agree that
(1) no that’s 7oK1 in "2 po°i1 with o w> ¥y won’t be MOR because
(@) the o™w> o°xy would be a a0 o
(b) And -2 agrees that *w o A ot
(2) So
(a) Based on the ninth n7pn
(b) there is no reason for nxni of the wn M
(3) And the &>wp remains: who is the xin of 'k Xn>12 who says yn1 2n
f) yrn

i) 'R &2 follows T1yo5x ' in RwT mawn who apparently says that o
piloh

g) xwp
i) It’s possible that MxwT 71358 ' actually says that *aw o o ar
i) Note by the way that mxw7 13121 certainly say that *w o= 7m a7
h) v n

i) "nwrT mwn" says outright that both 9rv°5% " and the xnp Rin of rwoox " say
vy wn min for the Mmoox of 771 7may because the no that will be 7981 in pon
'2 with o w> o3y will be mox

i) so
(1) it must be that 713°9) "7 &np ®1n and 7°wRT 213°9K " both hold that nm ar
Tox o713 and that noa o°xy maw w»
(2) and 'x &n>22 can follow 273°%% "

1) We’ll discuss below why the &7n3 doesn’t say that & &n>12 can also follow ®in
TR T NP
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14)~"wn as explained by X"w9nn at ankn oxY 7R3
a) 7oRw
1)  Why does "2 xn»12 disagree and say that there is no nxn:
b) nawn

i) 'axn»2follows *277 3327 who hold that noa o°xy naw X and there isno o7
TR at all

i) Soit’s a mu>ws that no is mn if it’s 79KR3 in the 7an in the first pooi that was
9113 the 7N

15) X"wAmn at manon A"

a) °"wn could also have said that 'a xn>12 follows 2xw7 13127 who certainly say that
MW QM AN

b) aoxw

1) We’ve established for the X310 that 27 and 3127 of '} &n>>72 hold that #m 7
MW 0

i) Why does *"w say that 2 xn>12 follows *277 1127 and imply that 'a Xn»92
can’t also follow 21

C) mawn
i) there’s no proof that *21 holds that > w o2 n
i) first reason

(1) We moved away from the X1k 7177 that °29 says that mox o7 a7 only
because there is no other case where *21 says that MoK a7 71 7

(2) This isn’t absolute proof
iii) Second reason

(1) It’s possible that the ®3pon says that 'k kn>12 deals with where there is no
migknRaRibt

(@) Only to teach the xnman that 3327 are =°ni the nd even where there’s no
201 07 because they say noa 0%y maw PR

(b) And not because °a1 holds »w o= o ar
(2) In fact
(a) it’s possible that *27 is 70X even if there’s a 07 27
(b) because he says that noa o°xy naw v and also that mox o0 o
16) qwnn of >"wA
a) noRw
i) Why in "2 Xn»92 do the 1121 require that the 7110 be 13
b) nawn as explained by X"wAmn at anxn axy "7
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i) Even though '2 &n>>12 says »w o2 o
il) n%nna% it’s 7ox to be 7o with a "o pooi”
iii) Meaning 1%rno% it’s Mok to rely on the 17 that »w o7 7 oy
17) qwnn of the X
a) Nwp

i) Maybe it’s only for 777 7712V that’s 2an that Arv°%x " says that o A aris
TIOKR

b) Firsty1°n

i) If so we’re left with the X>wp of "N 1RnK 10 X"

i) Meaning we still have the x>wp of explaining which xin says yn»
c) Second y1n

i) A XD says wiroa that "amnaw P00 922 WK TYOR M T "

18)"wn

a) xwp as explained by X"wamn at 1977 Ry 782

i) For the second y°n

(1) we understand why the & 13 doesn’t say that ' xn»>72 follows "7 p"n
TYIOR

(2) namely because it’s only for 71v°9x "1 that we know that =ox o713 n a7 for
7912 77N 92

ii) but for the first yy7°n
(1) that the X3 says '& &n>>2 follows 21°%x " only because 10 jxnx

(2) We have this x>wp: we can say that 'k xn>92 follows the x»p xin of "
RIFAA

b) y1n

i) We prefer to say that 'x xn>2 follows q1v°%x ' because we don’t know who
the Xnp Rin is

ii) In effect the X3 means 1MPLR TYOR "
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1 XY TY 2A"Th =0 PN zr'onw NN

7 R"AwND IRTI "D ORT MO 9D "D 12 KRR Y 772 'O [R TNy 1 7]
ANIT RNMPDT TINRDPT 212 DR 'O "1 w1 N7 RN "2 YT 2" 02T KM
5T 2T TN D52 IRT N7 92 2T 7T T2 T RD PR 970 ann TN Boa wea
RITOR 7Y VAR KDY T PWHA K27 MARPT 12 WD pIRT 2" Y R 'Y P yonnab
RPITT 7977 72092 12 MR DAR TID T0IR2 w2 W''ORY PARTD 975 2R TN Yo3
M7 R'AWND IR PORTTY 970 22 RO 20 OR DaR PUARIR 07D TR TI0IN2 v
119977 95772 AN ONRT W7 RNRT 2RI MW 2T 7Y 77T 0T BT RO Nan
PR (12) PTRT K? Wan v pas 2w '9INT DaR K27 R''2WT 1920 17T XOIT 200
"OINTRY AN 77T PRI RTINS YIS 97D a1 0T w2 19IDR MMORT 2w 1anay 2]
TORT NRPY MNP 752 2577 IPW 30 12AND KD MR 2PN AR 2PN 30 1and
7T R'TT IS NIN2 1ANDW 2R 7Y 7T P 2R 97D R''o2 w aRT YT omvnaTh
W 55D N K92 TIAD 1TADW IPANRT V'Y DRI NDTY TWORT 23 Y AN 27 N

RN IR

1) mnpn
a) Review X"wann at R "7
2) RN°°M2 0N 797 712y N0
a) XM YOnRna? 070 "R 932" W 70°U TING 1901w 10 SW 1IN SW RY
i) ToXR 20
i) WY 079 N a1 2°WRT iR YR M
3) TRwT mwn that’s mentioned in our X210
a) 1121 of the mxwT mawn (X577 1327) say that
i) 70w IND 90 1N DWW PN D MR
i) yonnah o7 "2" RPW 7Y MOKR R 29WO
4) x"awn mentioned in Mo as explained by R"wann
a) "2" means “only 12” and teaches that there’s no M0°X unless
i) there’s enough Mok to be y*»rn without the “n°n
ii) but not enough an° to be yonmn without the Mok
b) Because
1) if there’s enough of each to be y>»rn without the other
il) the case counts as o7 i1 17 and the 1°7 is *w for 1127 of the mawn
c) It follows that x5:77 73127 agree with nvaw '
5) X"wann
a) Mmoo in awan 9 pao disagrees with mooin here and says that X377 1327 hold that
i) where the mo°& o713 and an°n o7a are each enough to be yonnn
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(1) the case doesn’t count as 23 71 777 that’s "W
(2) and the no is Mox

b) Here’s a "&" that m»oIn here holds that

d)

i) where the mo°& o713 and 2n°n o7 are each enough to be yonnn
ii) the case does count as o7 11 17 that’s W
Part 1

1) We established earlier in 7% 13"7 mpoin for 'k xn*92 that says that 1127 hold
nann for o7 NR 12 79X

ii) that
(1) the xnx M7 of the X7nx is axan that
() 1927 say noa D%y maw W

(b) But the &n>>12 involves a case where there’s a 7n°7 071x besides a o
70K and 1327 Say "W oI an v

(2) And one case in which there is a 70> o7 in addition to a 1o°x o713 and
where 1127 are %p°» because W 27 11 A7 is where

(@) A w70 was a1 with anea o3y (nn o7m)
(b) And later no17 nX 12 79X With M0°R *xv with 17215 712K
iii) And that this an°1 applies even though
(1) the y7235 712X is alone enough to be 79X the no
(2) And certainly the an°77 >xy are alone enough to be 791% the no
Part 2
i) "R
(1) How do we know that 17212 12k is enough alone to be ns o
i) mawn
(1) Because mooin in Mk "7 proved that
(a) For the xipon of the X
(b) The x>0 of the Xn>>12 on 2913 23 Yy 7w

(c) Must deal with where the ">w°2" was 17215 7?1282 without a 1an
altogether

102



17'ox X1 2" T = "1 P70 7'onY 1IN

B9 12 2T T 77T AYLR KDY DA 2OV AR wIT 2R "1 9IDR K721 1772 'on
99 PR RDT RON IDIDRY 7199 TIVRNR 1T KD 273 771 7772 9A00DT 179 whnR 7 OR)
23995 KDY 2 273 TR 19DR 13200 R''T0T B 2O%Y maw 202 AHDT KON whsh

TP 9297 RM2N 21 KON 273 71T 72

1) 'R Xn™?
a) 0727 KD YW WP IR 797V °9°HPa 1P°0nw 1IN
b) noi nX 12 DX
1) "2 says the no is AMox
il) 3127 say the no is N
2) Rrnk M of the xn3 on the 72 of 'k ®n*12
a) 21 and 1121 both agree that noa o3y maw w»

b) they disagree only on whether mox o7 11 11 where there is a an°i 0713 besides a
MR 2N

1) °27says MOR QM AN T
il) 3327 say W oM AN AT
3) wipon of the X3 on the ka2 of 'k k012

a) 21 and 120 agree that *~w o7 n a7 and they disagree only whether %y maw w»
°27 nNo3

i) °27says noa Xy naw w°
i) 7127 say noa o°¥y maw PR
4) xma
a) PRMW MR
i) no97 X2 IER
(1) nann noI MR "2
(2) 7708 NoIT D>IMIR DOMOM
b) xwp
i) We’ve seen that 'R Xn>12 says the reverse
c) y™n
i) Sxmw actually holds that 77108 noi7 nR 12 79X
ii) he was concerned that
(1) people might wrongly rule with 3121 who say nanmn
(2) because »*amn 215 17977 PR who are 210
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iii) that’s why he reversed the muvw so that it would appear that 1127 say 7oK
5) mooin as explained by x"wann

a) Note that

i) Since %Xmw holds that the no is 710x it must be that he holds that 0%y maw w»
noa

b) Also note that
i) 2RMW is pow in 777 772y noon that »w o an
c) It follows that
i) 9xmw must deal with where
(1) there’s a m0°% 0713 because no2 0¥y naw w°
(2) and there’s no n°i1 o7 and that’s why it’s not relevant that *w 231 70 77
6) X"wann
a) Nwp
i) Why didn’t PXmw explain that

(1) 127 in 'R ®n»™ 2 in fact say that nnnm no because they hold that o= am
gl

(2) And we would have understood ourselves even without reversing the
muw that

(@) >xmw follows the mvw of the &1k mi that
(b) 1221 say

(i) noa ey maw we and are 2°nn the no only where there is a a0 o7
besides the mox 071

(i) But where there is only a mo°x 2713 the no is 770K
b) First y1°n

i) Sxmw prefers to be waon the xn>>12 according to the v w of the xipon that »29
and 1120 disagree on whether noa o°xy naw w° and both agree that o7 an ar
gl

c) Second y1n

i) Even if >xmw had explained that the n»%m» of 21 and 1321 is that »21 says
TOR 27 A1 and 1127 say W oM N T

i) We still might have said mywa that

(1) 7321 are °nn the no even where there is a Mo°X o713 and no n° 27
because

(&) Not only do 1121 say w o an
(b) They also hold that no2 o°xy naw Px
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(2) And that >xw made a point of teaching that only 3127 hold that o7 an
"W to teach the xman for »2n that

(a) Not only does *21 hold that nsa o°¢y naw w* which means at a
minimum that the ns is MoR where there’s a Mo°Rk 273 and No N7 27

(b) »an also holds that mox 271 71 71 S0 that nd is MOR even where there’s
a 70> o besides the Moox o
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DT
NN''Mpa NYT 2217 Xna = 1 770 7'onw n

TORIR RWIWD 10 790 WA 2nD "D RNMRPR 1WT 1200 KA [2 7MY 0T
TR N7 O''R DRI IWIDR MOKY WIPT 923 RO 121 2" RIIT 11290 Y99OR nO7
PRI KD WM TN NET IOR2 RPN 79 9p20m K97 D111 IORT RLWDY wan Pra
SRR RTOM 27 PODRY N2 WIPIT 223 1WP 1327 273 51 71T 01T IR XYY
SRTIT 99 291217 1927 PRI 2" oY 11D IR 237 KOR DR KDY 27973 IRD PRY 0 WY N
MWIDY RO 2R 7T TR ATONMDD RAPIRD AT ORPD K27 770 wanpT Na1 N
T2°2 273 7Y 7T 91T WA RUTY MONRI DRI 23 DY ORI 97T WRon K9 nwwsa
SAHDT IRMY 1ITT DA RIVANP 11297 RAND VARPTR WM IWITW WINAY IB17 KOW
RDR 93995 RY 91 DRIZWHY 2OUH 29072 92777 M »''o% 273 7711 7772Y N5 IRy mawa
273 57T 7772 ORT TIVY SO0 ROYABP 95772 RANDMRY P 207 ' noa 2y mawa
S99DT 292210 NTIAY PPTR 7TO0 LIWEN DOUa KD NPR2 19IDR WIPTT arun) 190 Rovany
SRTIT 1927 DY AR WO PR ISR DI KD 1A 293010 NTIAYT K'Y 12 72
PR PO IR RWIMIAY OD NOPaARP 39D NDa 2IRY NaAwaT YL ponT IRRD
T2 WP T2 A3 1R DU DR AW PRR 012 IRR WIPTI RNMRPA 1299 T
TPOYA NI POUR 2'WaD DR A0 MTINT N DT MO WA I M7
WP DRT RNVN2AR NMNT T TAYIR PUOR KD NN XNWT DwAnn nvwp
7' M K707 27 D''RT R DART DY RWT RLRWIPY ROIOT NADINATD MOX 2
By MR 29IYY TP IDRT RNYIMAR NRT VTR 12T 0K NET:

1) First nnpn

a) o°xy of 7197y and 0105 K55 and wpn count as an Pya MoK

b) o°%na or 7o of 797w and 09577 °X%5 don’t count as an Y2 MO

c) oom and "ox of wpn do count as an 1°ya MoK
2) Second mnTpi

a) "noaooxy maw v

i) Means that
(1) Where there’s an ¥ np1ax that’s noi7 7210 and is 191X the no

(2) We assume that the nai>w of the n1ax comes from the o°xy before they’re
77w into 798

b) "noaovxy maw PR
i) Means that
(1) Even where there’s an yv np1ax that’s noi 7210

(2) We assume that the nai>w that’s 19 the ns comes from 2R into which
the o>xy were 7w

3) Third n7pi
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4)

5)

6)

7)

8)

a) oy that are the 1va mo°) of 01577 *RXH1 79w
b) count as a Mmo°x o for noi n»ox
1) only where the o>xy are placed as an 1p12R that’s 7215 the no
ii) and only for the &7 18 that noa %y maw w»
Fourth nnTpn
a) "ox and o°%m of 727w and o°xY> count neither as a AN 0733 Nor as a ME°R oA
Fifth nn7pn
a) We’ve established that 7ox of w7pn and w7pi *xy both count as Pva Moo
b) It follows that

i) both w7pi 9% and wpn *¥y are a 70°%k 0713 S0 long as no is N2 nor1 while
WP %Y Or wIpn N9k are burning in a 7min

ii) It’s not relevant whether there is 17215 712K

c) this applies for all *nx7 187 including the &7 3&»n who says for o°x91 797y that
N1 DXV NIV PR

Sixth nnpn
a) A "wn n" is a 7in that was 2na1 by an pya MoK
b) For this 7773 there is no concept that required mn 7215 712K
c) It follows from the prior nwa7pn that
i) If the pya 7oK that was 2m1 the M1n is 2737 °R921 7177y Xy
(1) The 7mn counts as Pya Mo°Ra w3 and as a "wTn n"
(2) only for the &7 18n that no2 2%y naw w
ii) If the pya Mook that was =313 the 2an is wpn 7oK
(1) The 7mn counts as Pya Mo°Ra 9 and as a "win n"
(2) Even for the anxT7 87 that noa 0¥y naw P
Seventh n7pn

a) A nwin itself counts as an Pya Mook and is a Mo°k o for no that’s 7oK1 in the
TN

i) even without no:1 7210 PR
i) And even if the no is 79R1 in the 710 by a later poon with o w> o3y

b) But for 777y and 0o °x> this rule applies only for the &7 18n that o3y naw v
noa

Eighth mnpn
a) no that was 7981 by a 0>k o7 becomes ~ox only if
i) if it was nor1 by a 110°R 27
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i) and either
(1) there was no an>1 o7
(2) or there was a a0 o7 and the 17 is that o 7m 77 is MoK
9) Ninth nn1pn
a) 1w N means a 7n that was Tna in a po i with other than an pya Mook
b) Jw° Min itself counts as a an°n o7
10) nnTpn
a) If a w7 1an was a1 with an Pya Moo

b) The =mn must be yny for a 7&7 18n who says that any ns that is 7981 in the 71n
afterwards with o>°w> o°xy would be mox

11) 'k xn™M
a) N5 NR 12 719K 0197 RPD DV PR N 777V °92Hp2 10w N
i) 7MoKR ">
i) nann 127°
12) x3nk i of the X ma on the k02 of 'R kn»12
a) 21 and 1127 both agree that noa o3y maw w»

b) they disagree only on whether mox o7 11 11 where there is a 2n°n o713 besides a
MR DM

1) °275ays MOR QM AN T
il) 7127 say W oM AN AT
3) wipon of the xma on the ka2 of 'k k012
a) 21 and 127 agree that *w o A ar
b) they disagree only whether »27 npa o3y naw w»
i) °27says noa ¥y naw w°
i) 7127 say noa o°¥y maw PR
4) o°vo of the X0 that were explained earlier
a) first
i) 1R " and TryehR "7 1320 deal with whether o9 i 71 is ox for 71 772w
il) 77 372V isn’t 9982 190K 77°02
b) second

i) Sxmw follows the v w of the xipon and says that 1327 in 'R Xn>>12 hold that px
noa o°x¥Y Naw

13) X3 here

108



a) NV2R by X 92 °n7 to X707 20
1) N1 ['R RN*922] RNHPA 1IWT 13297 NOT DR 12 ORI WP XY P00 NN
b) m2wn by &7017 20
i) The nois aMoR
c) Nwp by &nnn2°m0
i) Why is wipn different from 5w
d) y1°n by X
i) WIPnisn’t 7782 17998 77702
e) &n>12 mentioned in the xipon of the X7
i) 0RO WP 9R
14) 5"wan as explained by X"wonn
a) First onTpa
i) Presumably

(1) the x°va°x applies to the xipon of the & nax that 1121 say noa ooxy maw & for
727w and 0757 °K?

(2) And asks whether

(@) because wprisn’t "q7x2 170K 12°w2a" and so is v relative to 79w
07277 *X9)

(b) 1127 would agree that noa o°xy naw w° for wipn
b) xwp
i) There should be no xvax at all
i) We’ve established that wherever 99x is an Pva MoK
(1) it’s a mv>w» that 1127
(@) who say for 797y and oo K95 that noa %y naw P
(b) agree that
(i) the 79X counts as a Mo>X oM
(it) even for a mo°r oM that has no particular “mn
c) y™n
i) You’re right that X%y >910 agree that w7pi7 79X is a MoK 071
i) The xva°x applies to the xnx M7 of the X
(@) Where 1127 say »w o 1 a7 and 27 says MoR 271 n
(2) and asks whether for wpn

(a) where there’s a 20> o as well as a MoKk o
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(b) 7321 agree that o7 71 77 is MOKR because wpn is nn

d) H"wann

1) lists two o219 for wpn where there is a an°i o713 as well as a 1o°R 27

ii) and refers to them as "ymi X>w w7 9n" and "1x37 X5w 7w 0"
e) X"wonn explains that the first 191x actually means "3x377 %28 yni 5w wn an"
f) now

i) %37 928 ynn ROW wIn In" means

(1) A wn mn (Mo°R o7) that was port and na1 with w7pii 9K

(2) And since it was 1177 there needed to be a 2 po°11 — which was done with
D°Ww> o°¥Y (AN°7 073) — to be noi nX 12 oW

i) 7377 ROW Jw° N means

(1) A man (Anon an) that was poi with wpn qox

(2) The =mn was not 117 and so could be noi7 nR 79IR with the same WP “oK
iii) Note that

(1) For w7n mmn there needs to be a second po°i1 with o>~ w> o°xy in order for
the case to include a 20> 071 as well as a 1o°k o

(2) For 1w min this isn’t necessary because the 1° 7 itself counts as a o
N

g) w7017 27 was pod that the min of wpi is such that
i) Not only do 1121 agree that o7 am a1 is o for wpn
i) Butalso

(1) Despite the general rule that an °va m10°k counts as a 1o°R o713 for no only
if the no is 7ox1 before w7pi 70X was 771

(2) the a2 Mmoox of "ox for wpn is 7an because 7°va X2 79X 270K and counts
as a Mo’k o7 even after the 2% was 771 so long as the o1 of the poi
with w77 298 remains

15) ®"wann
a) First xowp to H"wann
i)  Why does 5"win assume that x7om 21 applied this extra xmm

i) When there is w17 n enough for &7om 27 to apply the & i that o7 an ar is
TIOKR where wTpi 958 remains

b) Second x°wp to 2"wann
1) nnTpn
(1) This w70 by 2"wnn that the &y x applies to the x1nx M
(2) Has the benefit of explaining why xni1 92 9 asked his x°y2°x only to 1121
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(3) Since in the xnx M1 it’s only 13127 who say that >-w a2 a7 for 797y and
07977 °X?2

i) But we have this x*wp

(1) Since the x°v2°x doesn’t make clear that it applies only to the R1R M7 it’s
7anon that the x°va°x follows the Xipon

(2) And in fact we’ve established that SXmw also follows the v w of the xipon
(3) and

(a) for the xipon

(b) The x>y2°% on whether for w7p: there’s the X717 that 271 71 77 1S MoK

(c) should apply also to »21 who in the xipon agrees that for X751 777
07571 the 17 is that *w o an s

c) third xwp to 2"wn

i) If the X°v2X is whether we’re 2 ann for wpi on o a1 a7 because 7282 12°5K
02 KXY

ii) The xmx ought to have been vw1s the x°ya°x from the npYonn from the mvw of
T1YOHR " and YR 7 Rap Ran on 2 an a1 for 71 a2y where the 107 s also
that 2°v2 X% 7782 170K

16) yrn of X"wnnn to his nvwp on "wAnn
a) Be man the words of "w-nn to say that
i) The xwax of xnan 22 7 applies to 1327 in the Xipon
i) Xnr 9207 realized that 1120
(1) Although they say for o157 *&%21 799w that noa DXy maw X

(2) They agree that w7pi 79 is an 1ya Mok and is a Mok 27 without resort
to an X

iii) and the nmp1 of his &°y2°R is whether
(1) because of wpn N

(2) the o of wpn 79X is itself an 1°¥2 MoKk once w7pn 7o% has been removed
by 71973

b) noRw
i) Butif there is a °n°7 271 besides the m10°% 29771

i) The no> would be am» anyway because in the X170 even "7 says o an ot
a7

iii) And you’re now saying that the X°v2°x doesn’t deal at all with whether
because of the = of wpn the 7 for wap is that 9m 11 731 1S MOR

C) Tawn
1) The Xv2°k of Rnr 72 "»7 deals in a case where there’s no 207 o7

111



if) It follows that

(1) the ®°v2°} can’t deal with a Jw° 7110 because then the jw° "an is itself a o7
7

(2) And it must be that the x°v2°x applies only to
(a) aw7n 7n that was P and ana1 with Pya wips oK
(b) And after 779>73 and before n1%77 he was noi7 nX 12 79X
iii) It also follows that X"wann
(1) in his 777 of the words of 2"wonn
(2) Removes the words "1x17 8?1 7"
(3) And understands that
(@) when %"wnnn refers to ymin X971 win
(b) He in fact means 2377 891 YN X927 wIn
d) Note that
i) this 721 has these advantages:
(1) 1t follows xmw by dealing with the x3pon of the xnma
(2) It explains why Ram 92 °»7 wasn’t b9 the X°y2°Kk from the nwrT mawn

(3) It explains the &°y2°& addresses o and in this way answers why there’s an
X°v2°X in the first place which was our x>wp if the X°v2°x had dealt with
1°¥2 79K instead of va qox o1

(4) It avoids the mp>n7 where %"wnna before the 1773 seemed to say that a1
x70m in his pos went further in his Xm0 than the 2°n»n 7% of the x°wasx of
X1 92 °m0

ii) But the 7271 doesn’t explain why the X°v2°X doesn’t apply to 21 as well as to
1120

17) qwni of ®"wann
a) Nwp to 2"wnan as corrected by R"wann
i) Since we’ve established in the n7pi that
(1) A wn 2mn that was a1 with wpn D98 or any other 1°y2 MoK
(2) counts as an Pya mo°x and a MO°R 27 even after it’s X117
il) there already is an 1"va m0°) and a m0°R 2713 even without the o1 of w7pn 7oK
18) nvw of X"wann

a) The xv2x in fact applies to the xipon of the xna that 1327 say for 797y and x>
0707 that noa 0¥y maw PR

b) Now
1) Xnamoaom
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(1) wasn’t aware of the &n>>12 that teaches that w7pi 798 counts as an Mo°R
Ty

(2) and assumed instead that w7p7 79K isn’t an 1°¥2 MoK and is no different
than =ox of 797y or 01577 °X93

i) And his X°y2°X was whether
(1) because of the ¥mn of wpn
(2) 1121 nevertheless agree that w7pn 998 counts as an va Mo°R
c) note that

1) for the x1pon where the & 13 is aware of the xn»»n2 that says that w7pn "oK"
"R 277

i) It’s a muws that

(1) wpn ox is a Mok 07 based on the k012 that says wpn 798 is an MoX
Ty

(2) and not based on a possible v for wipn
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"un N7 T 7191V 12D 'na

ID2Y DI RUTT IORP 2N AT 2T PR 11D IRV SODRM RORT DI PIAD aR
TP MMOR TP AR ORARY PO BN

1) xama

a) WwTpa 79K is 07wk Mox where there was no 77°v» involved in burning the wpa into
mbh

b) Because if there was 17°v» the w1pi would be 19112 X3 and wouldn’t be ox
bl

2) X"wann
a) Nwp
i) even if there was no 1%°v» that turned the w7p: into "ok
ii) there will still be 7%°vn if a person later uses the 19X
iii) so in what sense is it that the 19X is 22w% 110K
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